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1)

2)

3)

4)

ARITHMETIC — @o3neds

abc is a 3-digit palindrome number.
The highest two-digit number which
divides (abc-cba) is

1) 11
2) 33
3) 99
4) 111

A and B are the digits of a number
2A3B.The numbersdivisibleby 11 in
total are

1) 9
2) 8
3) 7
4) 6

The digits represented by letters A
and Bin AB x 6 is BBB. The value of A
and Bare

1) A=6andB=2
2) A=7andB=4
3) A=6andB=6
4) A=6andB=8

The digits represented by letters A
and Bin (BAxB3) is 57A.The values
of A and Bare

1) A=5andB=1
2) A=0andB=1
3) A=5andB=2
4) A=3andB=2
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1)

2)

abc 3-w080d Tewmsdgess® oak
(abe-cba) 0Ty POTVE 2-w0&0D
Tog Joak

1)
2)
3)
4)

11
33
99
111

2A3B cdnA @) B eodobhad) Beodths
2,06 xoa% 11 903 PeUwerhsd )

Rodiried
1)
2)
3)
4)

S N o O

3) ABx 6 =BBB 0O ©0odn¥) ¥Z3 A DB

4)

BOOT Reeds. A Dd) BRv 3
1) A=6 DRB=2
2) A=7 23) B=4
3) A=6 23) B=6

4) A=6 DI) B=8

BA x B3 = 57A GO ©03nvx) ©30 A D)
BR0T Ine883. A ) Briv 3¢S

1) A=5 @ B=1

2) A=0 @ B=1

3) A=5 @) B=2

4) A=3 DR B=2
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5) When anumber 'a’ is divided by 'b’, it 5) 2001 5033zs "a’ ab 'b' Ao 2eNdTen,
gives quotient 'q' and remainder 'r'. Poriow 'q' D) B 'r' Bednas. 'a’
= [P I P () * [~} oy rd >
i’I;hen relationamong'a’,'b’,'q'and 'r b, 'q BT Y Bowoi
1) a=bg-r 1) a=bqg-r
2) b=ag+r 2) b=aqg+r
3) asbqer 3)  asbqer
4) b=aq-r 4) b=aq-r
6) The least number to be subtracted 6) 13 003 woNdwen Fea 10 svLadnTo3
from 1502 when divided by 13 1502 803 87 aheiese3 3@ Fos
leavingaremainder 10is ° 3
1) 10 1) 10
2) 7 2)
3) 6 3) 6
4 3 4)
7) The number divisible by both 3 and 7) @RIn¥d 3 D) 11 oTBOOTOR
11 among the followingis on@erd Jo &%
1) 18317 1) 18317
2) 21950 2) 21950
3) 25248 3) 25248
4) 29205 4) 29205
8) Highest 5-digit number divisible by 8) 2,3,4,5,3) 6 ©odnveN BRodDS

11 containing the digits 2, 3,4, 5, and
6is

1) 65432
2) 56342
3) 65342
4) 56432
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11 8083 wonwerdd  5-e9030d 1OF
30&5‘6

1) 65432
2) 56342
3) 65342
4) 56432
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9) The magic sum of a 3 x 3 magic
squareis 72. Its central numberis

1) 24
2) 36
3) 144
4) 216

10) A 4-digit palindrome number is
always completely divisible by

1) 3
2) 7
3) 11
4) 13

11. The smallest number by which 6000

should be divided to get a perfect

square numberis
1) 15

2) 9

3) 6

4) 3

12) A square piece of land has an area
1764 m’. The length of wire required
tofence theland completely is

1) 42m
2) 84m
3) 126m
4) 168m
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9) 3 x 3 Geci R8T Sreaie e 72.
T8 DEB Sosl;

1) 24
2) 36
3) 144
4) 216

10) 4-©030dh Bowarrdged) adrooriewe
N eamon oNDS Boad

1)

2) 7
3) 11
4) 13

11) 2,08 e Inceerien 6000 xig( 2N
(AR DIA R NG choaS25

1) 15
2) 9
3) 6
4) 3

12) 2,0%) 0B95908 BRVT e 1764m’
2T, ¥B0 DI ed ArDen 2esed
Sodab evd
1) 42m
2) 84m
3) 126m
4) 168m
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13) The perfect square number among
the following is

1) 44142
2) 42518
3) 44521
4) 44144

14) The cuberoot of 0.000064 is
1) 0.08
2) 0.04
3) 0.004
4) 0.008

15)1, 3, 6, 10, are triangular
numbers. The smallest triangular
number exactly divisible by 9 is

1) 18
2) 36
3) 27
4) 45

16) The smallest number to be multiplied

with 2880 to make it a perfect square

is
1)
2)
3)
4)

2
3
5
7

198

13) *hn¥d s0Zpese SN 5035'zs

1)
2)
3)
4)

44142
42518

44521
44144

14) 0.000064 0 IS0

1
2)
3)
4)

0.08
0.04
0.004
0.008

15) 1,3, 6,10, ...... a1 3zhe Dol .
9003 wortmerdd 3A8 Szhe ol

1)
2)
3)
4)

18
36
27
45

16) rbswzgd) 2o JOFper dﬁmoaa"é
odjetien 2880 o) m™edTIezT BT

KSoast

1)
2)
3)
4)

N U1 W
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17) The smallest number to be
subtracted from 8201 to make it

perfectsquareis
1) 201

2) 101

3) 180

4) 80

18) IfA’=B*+ C’and A is an even number,
thenBand Care

(1)
(i)

1)
2)
3)
4)

both even,
both odd,

Then which among the following
is true?

only (i) istrueand (ii) is false
only (ii) istrue and (i) is false,
both (i) and (ii) are true,

()istrueor (ii)is true

19) The product of two numbers is 1575
and their quotient is % then the two

numbers are

1) 45and35
2) 63and25
3) 54and49
4) 8land63
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17) 208 30Fper Sncenen 8201 9o
BYab Jezed Bg Joad

iy
2)
3)
4)

201
101
180
80

18) A’=B"+ C' &) A 20t Ihoal;, en

19)

Bayd) C
() <0ER IRoaNW,
(i) <0Ee YRPoak,nw
st ANV AroD $O7
1) () SR80 (i) D)
2) (i) dpg <0 DR (1) 3,
3) (i) S (if) 9S@e IO
4) () <O egse (i) IO
o0 BoalnY rbewy 1575

eoRriv ey o SE0 & aBm Boslriw

45 DA 35
63 VR 25
54 IR 49
81 VR 63




NMMS - SAT

MATHS

20) A school collected " 2304 as fee from
all its students. If each student has
paid as many paise as the number of
students in the school, then number
of student is

1) 48

2) 480

3) 420

4) 360

21) The smallest number to be divided
from 2560 to get a perfect cube
numberis

1) 10
2) 2
3) 4
4 5

22) Thecubeof 1.6 is
1)
2)
3)

2.56
409.6
0.256

4) 4.096

23) The rational numbers which are
multiplicative inverse to each other

are

1) 0,1
2) 1,1
3) 4,-4
4)  -2,%

200

20) 203 Todaly I oy JITYRENPT
% 2304 20,33, For@d. B3 SRR
Aed8 BoF (ByF L) TSI
améamv
améamv 5035zs

1)
2)
3)
4)

48

480
420
360

Bogrt  RmeNgs,

21) S30Fpear Smeriew 2560 I,
PoNTIez0B BTG Foss;

1)
2)
3)
4)

10
2
4
5

22) 1.6 8 &

iy
2)
3)
4)

2.56

409.6
0.256
4.096

23) =TI
RO mﬁozg ﬁoa%ﬁsb

1y
2)
3)
4)

0,1
1,1
4,-4
-2,%

M&e5903 c;’)d/aed)da}*
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24) The simplified form of
15 (5 _ 1) .10

16 \6 2/ 11
23 11
1 48 2) 32
3) 33 5 33
16 32
25) Thereciprocal of éxﬁ's
) Thereciproc g 13!
3 -3
U 26 2) 26
26 —-26
3) — 4) —
) 5 )75

26) The sum of a rational number %and
its additive inverse is

1) 0 2) 1
8 65
3) - 9

27) A metal sheet of dimension
3 1
(103 x 1)em )
is cut into circles of diameter 11 cm
each. The number of complete circles
so obtained is

1) 10
2) 9
3) 8
4) 7

201

24) 15 (5 1) .10 oggzogzddes
16 \6 2] 11
23 1
1) 78 2) 33
33 33
3) 16 Y 3

-3 -4 -

3 -3
2% 2) 3¢

26

-26
3) 3

4) 3

26) GrlaTo M Clale)

N JES

201 z,nrioag a“SoaS‘?S
Bo3uR Jdeedd Sp3

1) 0 2) 1
8 65
3 - 8
27) 208 peBBBE M 0
(103 x 13)em .
23003 17 om TR aNBo3

8303 Brich WRIT FoPPer FyIriY

ﬁoaﬁ‘a

1) 10
2) 9
3) 8
4) 7
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28) If 'x' and 'y' are any two rational

1)
2)
3)
4)

numbers, thenthevalueof X1Y is
between x and y 2
lessthanboth x and y
greaterthanboth x and y

lessthan x butgreaterthany

29) Wing spans of Golden eagle and

Seagullare 25 m and 175 m

respectively. The wing span of
Golden eagle is larger than that of
Sea gull by

7

33

2) 1o

m

8

3)

W

4)

[GIEN
8

30) (a+b) + c=c+ (a+b) represents

1) commutative property

2) identity element property
3) associative property

4) distributive property

202

MATHS
28) X' DR 'y’ o0 dree a,nrioag
Rogrivens XY s

1)
2)
3)
4)

29)

30)

x DR y1iY DS 9083

x DR y 1Y Aod 8D 983

x DR y Nod Bed) 983

x No8 38 8TT y Nod Bed), ahzs

0OMCd BW) (Golden eagle) DB
JB0ByB B3, (Sea gull)riv 350 evgd
gaen 21 m @@ 1{p m ad
0ormedad BRI T3NRY evdxy J3NG,

Sééﬁoé cDE’a.‘)J 5233“ NG?
7
33

2) 70

3) 3 m

4) % m

(a+b)+c=c+ (a+b)odn BB
e

1
2)

20T dead
033203
B I3 ead
QBB

3)
4)
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31) Sanmati spends 40% of her pocket 31) I3, 33O BB 40% TR) S8

money and is left with ¥ 120. Money %120 VD ZTY. HSVOT Bea
shehadin herpocketis - "o

1) % 200 1) %200

2) %192 2) %192

3) 168 3) %168

4) %300 4) % 300

32) The sum of two numbers is 161. If 32) TR Joskriv BB 161. YNV 20w

one of the numbers is 30% more T0a3.03w 23,033 30%3R) B3 N3,

than the other, then the numbers are 3 % “ =0
esﬁoa)"zsﬁ%b

1) 71 and 90 1) 71 3)3)90

2) 70 and 91 2) 70 D 91

3) 54 and 107 3) 54 107

4) 60 and 101 4) 60 3101

33) A seller bought some chocolates at 33) W) @m0 F3 dewmoddri 6

% 1 for 6 chocolates. The number of Bo5e3eeIf3E03 UT) aaasejeeasdgab&
chocolates he must sell to gain a 308 20% ga), Uerl BBoben BB
profitof 20%is RroTuesn Boseestd Sos;

1) 11 for% 2 1) ¥23%11

2) 9forx?2 2) 2% 9

3) 5for%1 3) T145

4) 4 forX1 4) 144

34) A dealer allows a discount of 20% 34) wy) Dm0 20% dalroohSodbrY

and still gains 20%. If the cost price eBTB3e 20% 3B BBV,
offma_\rtlclelsi 600, then its marked 200 BT ERoT LS 600 TS
prieeie 00 SRRBIT L

1) %480

2) %840 L 1480

3) 2864 2) %840

8 720 3) T 864

4 %720

203
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35) A shopkeeper marks his goods at
25% above the cost price and allows
a discount of 10%. His profit
percentageis

1) 12.5%
2) 13.5%
3) 14.5%
4) 15%

36) An article with marked price 3120 is
given two successive discounts of
15% and 10%. Its selling price is

1) 790
2) T91
3) 7918
4) 798.1

37) An old bike was sold through a
broker for ¥ 35000 at 5% brokerage.
Amountreceived by owner is

1) 333250
2) 33750
3) % 33000
4) % 34000

38) An agent gets % 10,300 in a month
including his salary ¥ 4000 and 6%
commission for the sales. The value
ofgoods sold by himis

1) 150000
2) 105000
3) 3171667
4) 3137800

204

35) w) Dm0 20w IDIT Beod
BJabI 25% BN ISRd, B3,
10% Oodroah3od NeDBN. BTI
DeSTo €393

1) 12.5%
2) 13.5%
3) 14.5%
4) 15%

36) 2,08 )3 IedB B3 7120 B,
e3hmeN Balrecdd 15% DA 10%
eBTT SIS 00T 23S

1) %90
2) %91

3) 7918
4) 3981

37) 200 dYAD z:?ésxig( 3 35000 88 22)
BUR RWB 5 % TIWoS 003.
Bstabosad 3BT BE?

1) ¥ 33250
2) ¥33750
3) ¥ 33000
4) % 34000

38) ) oBoeD B Foww I 4000 Jed 2wodd
dondort 6% TUe® B0BoZ SHTIY,
Sro00e3 F1eBTB,N T 10,300 SBWS.
B Syevet3 F1eBT IS e

1) 150000
2) 105000
3) 3171667
4) 3137800
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39) The simple interest on T 5000 for 8 39) Te&ET wB TV 6% TBod X 5000 3,
months atthe rate 6% per annum is 8 3onon BZedoins ﬁds’m%
1) % 240 1) T 240
2) %20 2) T20
3) 24 3) T 24
4) %200 4) 200

40)

41)

42)

A sum lent out on simple interest
doubles in 6 years and 3 months.The
rate ofinterestis

1) 16%
2) 15%
3) 12.5%
4) 10%

Sanjeev bought a mobile phone for
% 2600. The VAT for this item is 4%. The
price ofthe mobile phone before VAT is

1) %2704
2) %2504
3) % 2496
4) %2500

The price ofabicycleis 3584 including
sales tax. If the actual cost of the bicycle
isT¥ 3200, thentherate ofsales taxis

1) 8%
2) 10%
3) 12%
4) 14%

205

40)

41)

42)

TOPEM BB B 6 IR 3 30RO
Brheeerh3a. w28cb 33

16%
15%
12.5%
10%

1
2)
3)
4)

Joed word TRedyo* FReT DY,
T 2600 €¢ BR0BD. BT, 4% DYLF
83,083, S0t BeBOI d.saea?ege)'s
Feedaeies

% 2704
% 2504
% 249

% 2500

1)
2)
3)
4)

So00e3 30rae Jed 2wodd aa"éc%seﬁc‘d
23e3 3 3584. 3,385 cfga 23e3adn T 3200
B3 003 39ri0d BT

8%

10%
12%
14%

1
2)
3)
4)
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43) In a histogram, the width of the 43) SHIReTRBITTY Bab3T wnvw) oI
rectangleindicates FBDIST?
1) Classinterval 1) SIMFro30TT M3,
2) Mid-point 2) d)dgs Do
3) Frequencydensity 3) 63,30 meodd
4) Frequency
4) 833
44) Arithmetic mean of integers from 44) -4 008 40TTVOT DREOZTY
-4 to 4is BTIBO
1) 0 1) 0
2) 2 2) 2
3) 3 3) 3
4) 4
4) 4 )
45) Themeanof 8, 6, 9, xand12is10.Then 45) 8,6,9,x D12, B ﬁoaj’érivé Joex30 10
thevalue of 'x' is 333 'x' I3
1) 10 1 10
2) 12 2) 12
3) 13 3) 13
4 15 4) 15
46) The mean height of 15 students in a 46) wotd SoRSabY 15 JnyBENY FoeO

class is 1.6 m and the mean height of
remaining 10 students is 1.2 m. The
mean height of all students in the class
is

1
2)
3)
4)

1.4m
1.44m
1.3m
1.2m

206

o238 1.6 m DD WIB TR ITYPENY
J0e0 03 1.2 m 8NE. BCRSOT verd
lapRalyaigileptelatele

1) 1.4m
2) 1.44m
3) 1.3m
4) 1.2m
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47)

48)

49)

The median of prime numbers from
12to30is

1)
2)
3)
4)

Temperature of a city in degree Celsius
for 8 days are 41, 38, 38, 40, 37, 42, 35,
34. The range and median respectively
are

1) 7, 37
2) 7, 38
3) 8, 38
4) 8, 37

Histogram shows the number of people
owning different books with them. The
number of people surveyed to collect
thedatais

12 +
10 +

No. of People

8
6
4
2

0 20 40 60 80
No. of Books

1)12
2)20
3)40
4)32

207

47)

48)

49)

12 50xd 30 B30I CIUALIS) ﬁoa%rw
ai)mzsozi

1) 13
2) 17
3) 19
4) 29

20 INTT Qotd BINY evgldody &N,
BYoDLTIY 41, 38, 38, 40, 37, 42, 35,
34 sN3. 9P F9Q D) Spe03TEh
gdaeN

1) 7, 37
2) 7, 38
3) 8, 38
4) 8, 37

3% eBVT bR rMyF BIT W VDS
DIBRY  BoBob, IeBDIB. B
B32038), JorjdbIen IBF 0BT BINY

Edo&)"zs

12
ol A2
=0
R ;
B 817
6_
% 5
F 41
o3
2_

0 20 40 60 80
2.63) VIYSOE Toal

1)12
2)20
3)40
4)32
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50) Themode of followingdatais

Number 13| 14 | 15 | 16 | 17
Frequency | 9 6 |22 |20 |19
1) 15
2) 22
3) 17

1)

208

50) o8 AeBDT BZ203T BIVS (CRR L)

§OS3?S

13

14

15

16

17

833

22

20

19

1) 15
2) 22
3) 17
4) 19
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51)

52)

53)

54)

ALGEBRA - NMMS
QUESTION BANK
51) abc+bca+cab eedeedos 20w

The expression abc+bca+cabisa
1)
2)
3)
4)

Monomial
Binomial
Trinomial

Polynomial

The factors of (ab +3a? b?) are
1) ab, 3a® b?

2) 1, 3ab

3) ab, 1+ 3ab

4) 1,3

The area of a square is (x> + 10x + 25)
square unit. Then length of its side is

1) x+2
2) x+5
3) x+3
4) x+4

The productof (a>+b) and (a+b?)is
1) a*>+b*+ab(at+b)
2) a*+b*+a(l+ab)
3)
4)

a*+b*+b(l+ab)
a*+ b’ +ab (1 +ab)

209

1) o8zBecd
2) oEBeey
3) gmTweed
4) wBTEREE

52) (ab+3a> b?)3 eI

53)

54)

ab, 3a? b?
1, 3ab

ab, 1+3ab
1,3

1))
2)
3)
4)

wOW JINFT Qeery (x* + 10x + 25)
BTETRPN ST T WTT 0T

1))
2)
3)
4)

x+2
x+5
x+3

x+4

(2>+b) =3 (a+b?)T L)

1) a’+b*+ab(a+b)
2) a*+b*+a(l+ab)
3) a*+b*+b(1+ab)
4) a*+b3+ab(l+ab)
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55)

56)

57)

58)

If x=3a>-5b?% y=6a®>+ 3b*and
z=2b*—-4a? then x+y—-z is equalto

1) 4a>— 13b?
2) 132%— 4b?
3) 4b2— 13a?
4) 13k - 4a2

If 4m? + n> =40 and mn = 6, then value
of 2m+ n is

1) 10
2) 6
3) 8
4y 4

Which of the following shows three
consecutive multiples of 8 ?

I) 8, x+8, x+16
2) 8, 8 +8, x+16
3) x,x+8, x+16

4) 8x, 8(x+1), 8(x+2)

(a?-b?)?* isequal to

1) (a2 + b? (a*>-b?)
2) (a + b2 (a-by
3) (a+ by (a-b)
4) (a-b)* (a+b)

210

55) x = 3a®> — 5b% y = 6a®> + 3b* =3P
z=2b’—4a> o838 x+y—Z R T[T
1) 4a? —13b?
2) 13a% — 4b?
3) 4b> - 13a?
4) 13b* — 4a?

56) 4m*> + n*> = 40 B, mn = 6. =TI
2m+n& 33

1) 10
2) 6
3) 8
4) 4

57) 83 r{:saoz%dssd BRWILT WD TR
z)‘os%rie:b

1) 8x,x+8, c+16
2) 8, 8&+8, x+16
3) x,x+8, x+16

4) 8x, 8(x+1), 8(x+2)

58) (a>-b?)*R B

) (> + B?) (@>-b?)
2) (a+ by (a-by
3) (a+ by (a-b)
4) (a- by (atb)
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59) A shop keeper sells a mobile phone 59) TRIROCIL 2woTH d.raz%@ﬁ:ol?(30x2+20y+l7)

for X (30x* + 20y + 17). If the profit is R Spoet: =@ T (15x2 + 17y -3)
T (15x* +17y-3), then cost of the mobile PRL2E3, 95T 363
is

1) 15x% - 3y-20
2) 15x* - 3y +20 2) 15x* -3y +20
3) 15x2 + 3y + 20

1) 152 — 3y—20

3) 15x%* +3y +20
4) 15x* + 3y -20 4) 15x*+ 3y - 20

60) If a+b=15,b+c=15andc+a=8 then 60) a+b=15,b+c=15 e c+a=8 =x3

the value of (a+b +c¢)is (at+b+c)od B,
1) 18 118
3) 16 3)16
4) 20 4)20
1 1, . 1 1
24 — = _ = 2 4 - = - =
61) If y V2 5, then (y y) is 61) y +yz 5 «smd (y y) o 2.
1) 5
15

245 )45
3) 3 3) 3
Hi3 H3

62) Thevalueof (V2 +V6) — (¥2 — V6) is 62) (2 +6)° — (2 —6) T B3

1) 212 1) 212
2) 424 2) 424
3) 846 3) 846

4) 843

4) 8 V3

21
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(18.2) - (11.8)

63) The value of is

64)

65)

66)

6.4

1) 24.6
2) 30
3) 6.4
4) 20

Length of a rectangle is Sm less than
twice its breadth. If the perimeter of
rectangle is 62m, its breadth is

1) 12m
2) 72m
3) 16m
4) 12.5m

A common factor of (p> + 9p + 14) and
(p>+13p+42)is

1) pt+t6
) pt+7
3) pt2
4) p+3

o'+ y")'1 is equalto

1)

><|r~
+
|

=
+
<

2)

X%‘.
<

3)

4)

=
4_
<

212

63) (18.2)* - (AL8)* .23
6.4

1) 24.6
2) 30
3) 6.4
4) 20

64) SCNTT T VTS WNOT adcsd"’%os 5m
R A, BN WIYE 62m ST3

OTT OO
1) I2m
2) 72m
3) 16m
4) 12.5m

65) (p*+9p +14) =63 (p* +13p +42) T 2o
TOTF TSI
1) pt6
2)pt7
3) pt+2
4)p+3

66) (x' + y')  omE BT

1 1
1) 7+?
2) x+ty
y
Xy
3 xFy
1
Y 5Fy
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67) Present age of Raju and Ravi are in the
ratio 4 : 5. Eight years from now the
ratio of their age will be 5 : 6. Raju’s
present ageis
1) 32 years
2) 35 years
3) 40 years
4) 45 years

X
iU

68)
, ¥ 2

which of the following is false
1)%y—x=0
2) 2y- 14x =0

3) 2x — 14y =0

16
12

xty
4)m=

If % (m—-1) =m-3 Then the value of
‘m’ is

69)

) 9
2) 6
3) 3
4 12

213

67) TR T TROH [OPIT  WFT!S 4 : 5

$N¥. 8 INFE  TOZT WRNT TCPRT

WINPT 51 6 T3, TR NS T
1)32years

2) 35 years

3) 40 years

4) 45 years

X 14

68) =75 BT ARYNTY ST: Jewd
1) 12—4 y—-x=0
2) 2y-14x =0

3) 2x — ldy =0

16
12

4 Y _

xX—y

69) 3 (m-1) =m-3 g ‘m’ & B3
) 9
2) 6
3) 3

4 12
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70) If m = 0.85,then ‘x’ isequalto 70) (—x+ 3 -7x) =(.85 <33 ‘x> 8 BB
b2 1) 2
2) -1 »
3) 0 50
4) 1 91
71) A number added to its half gives 27, | 71) %0% B03oHR) WTT LTFFTTE, PR 27
the number is SHITT, & "o,
1) 9 Dy 9
2) 18 2) 18
3) 27 3y 27
4) 54 b s

72)

73)

Likhitha’s mother is seven times as old
as Likhitha. If the sum of their age is 32
year then mother’s present age is

1) 24 year

2) 26 year

3) 28 year

4) 30 year

The sum of two numbers is 45 and their
ratio is 7 : 8. The greater of the two
numbers is

1) 56

2) 15

3) 21

4) 24

214

72)

73)

ONDTY TN FTInvnoed 7T FIFE
%oao&wncr%& e.-owaagp woxaai &ag 32
DR BBT, TN ]:3NT 5053:‘%.

1y
2) 26 IRe

24 IR

3) 28 =Re
4) 30 =3

TR TOABNE RRg 45 3Ty WPNE TR
7:8, €T OJYNYY ©g03 BRT ﬁoaﬁé

1) 56
2) 15

3) 21
4) 24
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74) What should be added to (a>+ ab + b?) to

75)

76)

77)

get (2a>+4ab)?

1) a>+2ab +b?
2) a®’+2ab-b?
3) a*-2ab +b?
4) a%?-2ab-b?

then the value of 5° is

If 2+ 2 + 2x=192, then the value of x’ is

1) 3
2) 4
3) 8
4 6

A number multiplied by (-5)’ is equal to
(25). The number is

1) -5

2) 8

3) 6

4) -10

215

74) (a*> + ab + b?) R 3R Deed Be0nT 2

76)

77)

(22> +4ab) s3I ?

1) a>+2ab+b?
2) a®+2ab-b?
3) a?-2ab+b?
4) a?-2ab-b?

wEd 5 3S

3) 3
4 2

2+2+2=192, u83 ‘X’ 833

1) 3
2) 4
3) 8
4 6

200 Toa3onws, (—5) 0oF rbedmn rhrURR)
(25)" @8 & R0z,

1) -5
2) 8

3) 6
4) -10
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. . S0 50 50 50, 50 50 50 50
78) Thesimplified formof 2 +2 + 2 +2 ) is 78) (27+ 27+ 27+ 27) 8 Zmo3 oSem
54
1) 2 4
2§ 52 27
3) 2100 2) 2%
100
4) 2200 3) 2
4) 2200

79)

80)

81)

If 2" x 3"x7°= 3528, then the value of a, b
and c are

1) a=3 b=3 c=2

2) a=2 b=3 c=2

3) a=2 b=2 c=3

4) a=3 b=2 c=2

If the mean of three numbers.x,y and zis 4,

then the value of \3/3x+y—; 3y+z—; 3z+x-.v

1 3°
3
2) 37
3) 37
2
4) 37

S5x

- 3x+1
If 2 g 4x2 then the valueof ‘x’ is

1) 4
2) -3
3) 2
4) -5

216

79) 2" x 3'x7°=3528 S a, b B3 cne S

80)

81)

2 = 4x2

1) a=3 b=3 c=2
2) a=2 b=3 c=2
3) a=2 b=2 c=3
4) a=3 b=2 c=2

R Mo, x, y BBy zR¥ o0 4 7T
\3/3x+y—)z< 3y+z—;c( 3z+x-y o 2363

3x +

"egd s 3

1) 4
2) -3
3) 2
4y -5
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x—1 x-3 x-—1 -3
ay _ (b I ay b )
82) If (b) (a) then thevalueof ‘x’ is 82) (b) = ( ) @ud ‘X’ 3 83
1 3 13
2) 2 2) 2
3) 4 3) 4
4) 5 4) 5
1+a 1-a 1+a 1-a
83) If 7 + 7 =50 thenthevalueof ‘a’ is 83) 7 +7 = 50 =338 ‘@’ 8 83
2) 1 21
4) 3 4)3
- a _a _ a° a a _ 4
84) The simplified form of b S 84) e e 8 Tos™ SR
b+c+d
1) a 1) ghrerd
2) g* 2) bed
3) 1 3) 1
40 40
85) The standard form of 330,000,000,000 is 85) 330,000,000,000 3 53 SHT
1
1) 33 x 10" 1) 3.3x10
9
2) 3.3x10° 2) 3.3x 10
10
3) 33x10"° 3) 33x 10
4) 3.3 x 1012 4) 33x 10"

217




NMMS - SAT MATHS
. . S0 50 50 50, 50 50 50 50
78) Thesimplified formof 2 +2 + 2 +2 ) is 78) (27+ 27+ 27+ 27) 8 Zmo3 oSem
54
1) 2 4
2§ 52 27
3) 2100 2) 2%
100
4) 2200 3) 2
4) 2200

79)

80)

81)

If 2" x 3"x7°= 3528, then the value of a, b
and c are

1) a=3 b=3 c=2

2) a=2 b=3 c=2

3) a=2 b=2 c=3

4) a=3 b=2 c=2

If the mean of three numbers.x,y and zis 4,

then the value of \3/3x+y—; 3y+z—; 3z+x-.v

1 3°
3
2) 37
3) 37
2
4) 37

S5x

- 3x+1
If 2 g 4x2 then the valueof ‘x’ is

1) 4
2) -3
3) 2
4) -5

218

79) 2" x 3'x7°=3528 S a, b B3 cne S

80)

81)

2 = 4x2

1) a=3 b=3 c=2
2) a=2 b=3 c=2
3) a=2 b=2 c=3
4) a=3 b=2 c=2

R Mo, x, y BBy zR¥ o0 4 7T
\3/3x+y—)z< 3y+z—;c( 3z+x-y o 2363

3x +

"egd s 3

1) 4
2) -3
3) 2
4y -5
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1-x"

90) If S

=0, then the value of ‘x’ is

1
2) 0

1
3) 5

4) 10

91) If youdraw a straight line passing through
the points (2.7) and (4.11) then co-ordinates
of the point where line intersects y - axis is

1) (0,5)
2) (0,4)
3) (0,3)

4) (0,1)

92) Plots the points A (2, 0), B (5,0), C (5, 3) and
D (2, 3) on a graph such that ABCD is a
square. The length each side of the square is

1) 2cm
2) Scm
3) 3cm

4) 7 cm

93) If the point (2{—2, k+2)lies on origin, then
the valueof £ and k arerespectively

1) (1,2)
2) (1,-2)
3) 2,2)

4) (2,-2)

219

1-x"
1-x

90) =0 o3 X 88

1
2) 0
33
4 10

91) (2, 7) DT (4, 11) WVOWBNY RV T
e [TPBea3odn ZodD!R y - w3
FCOR VODIT AWFETR03

1) (0,5)
2) (0,4)
3) (0,3)
4) (0,1)

92) A (2, 0), B(S0), CG,3) ==y D, 3)
NOTRYR, VIORQ ™IFr  IneTT, Tedowod.
%R TUR SIAFT - T WRTIT YT

1) 2cm
2) S5cm
3) 3cm

4) 7cm

93) WO (26-2, k+2) MoF® TEOD SROVOTH
(origin) QT € ) k T BSR N
) (1,2)
2) (1,-2)
3) (2,2)

4) (2,-2)
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94)

95)

96)

97)

The point (5, 0) lies on the line
)y —x=0

2) y=0

3) x =0

4y +x=0

The general form of a straight line on a
graphis (a and b aretwo integers)

Hy=ax*+Db
2) y=ax*> + bx
3) y=a + bx?

4)yy=ax+Db

Inthegraph, x < 0, y > 0 represents

1) I Quadrant
2) 2nd Quadrant
3) 3 Quadrant
4) 4th Quadrant

If you tabulate the co-ordinates of the line
y = 3x + 5, the value of a and b are
respectively.

X 1 -2 b -3

y 8 a 14 -4

1) a=-1 b=3
2) a=1 b=-1
3) a=1 b=3
4) a=-1 b=-3

94) 2o (5, 0) AT OE Seal

)y —x=0
2) y=0
3) x =0

4)y +x=0

T b AT BRFFOIND)

)y =ax>+b
2) y=ax* + bx
3) y=a + bx?

4)y=a +b

1) 13¢ 335008
2) 23¢ 23305RF 03
3) 33¢ 23303
4) 43¢ 233050F 03

Tyond a DI, b R3S

95) mF® IFoPY TTYSeBeH SWIFSHTR) (a

96) 5§o&§ x <0, y>0 308 835708

97) y=3x+5 Boeacen wded 3o dBeT0d

1) a=-1 b= 3
2) a=1 b=-1
3 a=1 b=3
4y a=-1 b=-3
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98) The equation of the line which passes
through (0,0) and (1, 1) is

I)y=1

3) y=—x

2) y=x
4) x=1

99) Following chart shows the quantity of
diesel and its cost. The cost of 190 litre of
diesel is
Diesel (Ltr) Cost (%)

120 6000
150 7500
210 10500
240 12000
1) 6500 2) 9500
3) 8500 4) 10,000
100)Students qualified in a National level

examination is shown in the graph
Maximum and minimum students passed
in the year are

A

75 1

~J
(e

N
(V)

No. of Students ———»
(0] (@)
() (@]

(¥4
(e

>
»

2013 2014 2015 2016 2017

Years ——»

2) 2013 and 2017
4) 2014 and 2017

1) 2014 and 2016
3) 2015 and 2017

221

98) dBrezecE (0, 0) =y (1, 1) A Dwews
T BREMT Bewe3TEoR)

2) y=x
4) x=1

1) y=1
3) y=—x

99) T0olT JeodY ReBST JRere (OeRYY)
Tene BT ( SRnYY) ABSRNT. OPYROR
ToWoR2WO3 190 Oee3Tt Rexe® B33

Qexger (Oe) (BT Tw.)
120 6000
150 7500
210 10500
240 12000

1) 6500 2) 9500

3) 8500 4) 10,000

100)@%@03’: a’:égsa’ waegomowsg

m%@‘s%rmzs DTBENY ﬁog%ﬂeésadﬁio&eg
SR s. nogy ==y IWF ;amz@;m%o
YVIELIFTIVT TN FFHN

A

75+

»
»

2013 2014 2015 2016 2017
TRIERD —»

1) 2014 and 2016
3) 2015 and 2017

2) 2013 and 2017
4) 2014 and 2017
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NMMS QUESTIONS - GEOMETRY

101) Two lines RS and PQ interest each other ata
point ‘O’, if ZPOR: ZROQ = 11:13
then the value of ZSOQ is

1) 195°
) 5

2) 95°

165°
3) =

4) 65°

102) In_t)he givelii)gure, (Tg stands on a line POQ,
OR and OT are bisectors of Z/POS and
Z8S0Q. If ZPOS = x then the value of
ZROTis

R S
T
X
. & 5
1) 90°
2) 75°
3) 120°

4) 180°

222

101 RS =3y PQ  Beldnsy oIz ‘O’
WOTDITY gedass. ZPOR: ZROQ=11:13
@wmen /S0Q 8 3

195°
H 5

2) 95°

) g

4) 65°

102) 254305 33RY OS, POQ =owdeaios: shed
—> —>

033, OR 3 OT nes  3mbwn LPOS

2y Z80Q ¢ dnemgrineens. L/POS=x
@mon ZROT o3 2863,

R S
T
X
. & 5
1) 90°
2) 75°
3) 120°
4) 180°




NMMS - SAT

MATHS

103)In the given figure, lines AB and CD
intersect at ‘O’. If ZAOC+ ZBOE =70°
and ZBOD =40°, then the value of 2/BOE
is,

C
E

1) 90°

2) 50°

3) 60°

4y 30°

104) In the given figure, if
valueof ‘x’ is

AB || CD then the

1) 235°

2) 285°

3) 105°

4) 225°

223

103) 303 83RO AB =3y CD Bo¢Sessnsd
‘O’ WOTHARY et LAOC+ LBOE=70°
2y Z/BOD=40° swen 2/BOES 838

C

1) 90°

2) 50°
3) 60°
4y 30°

104) 3083005 233RY
2363,

AB||CD @mor, x° 8

1) 235°
2) 285°
3) 105°

4) 225°
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105)In the given figure, ZPOY=90° and
a:b=2:3 find <
2 p

1) 55°
2) 68°
3) 77.5°
4) 63°

106) Two lines AB and EF are parallel to a third
line CD. Then thelinesAB and EF are
1) Perpendicular to each other
2) Parallel to each other

3) Intersect each other

4) Bisect each other

107) In the given figure AB || CD, the value of ‘y’
is

A < o P > B
50 y
) 127° R
C « 0 R > D
1) 77° 2)127°

3)130° 4)50°

105)%@%&5 WIRY T LPOY = 90° =3
a:b=2:3 <n. %5 33
P

1) 55°

2) 68°
3) 77.5°
4) 63°

106) AB %3 EF B0udessnes shdmom Bovdess

CD i ©T3»038=oNE. AB =283 EF
noYBeadnsh.

1) HTIT ©oWTNTTS
2) TET mﬁEoédmﬁd&gﬁ

3) =3

21

(SR ALIEY

3

4) TTIT 9QFRTH

-0

el

107) 30303 833xY AB||CD T3, ‘y’ & 838

A < o P > B
50 Y
127°
C « ) R > D
1) 77° 2)127°
3)130° 4)50°
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108)Two angles form a linear pair whose
measures are ‘a’ and ‘b’ such that
2a-3b=060°, then the value of ‘b’ is

1) 300° 2) 180°

3) 60° 4) 90°

109) If the arms of one angle are respectively
parallel to the arms of an another angle,
then the two angles are,

1) Either equal or supplementary
2) Neither equal nor supplementary
3) Not equal but supplementary

4) Equal but not supplementary

110) In the given figure, AB||CD, Z/BAO =108°
and ZOCD=120° then ZAOCis,

A
B
108°
AN
o)
120°
C D
1) 150°
2) 132°
3) 120°
4y 72°

225

108)‘a’ 3Ty ‘b’ QT BRESNYY  wOTWH
RIS [T, wootd [RRTp,  2a-3b =60°

=TS bR 33
1) 300° 2) 180°
3) 60° 4) 90°

109)2.0% FRCETE QT TN TFowN
5’:3".@905‘: FRETT NTTEY WRTINOR
TRR0ZTTRNTRR & TR BRETNE

) 3R 95m0 BOWRTT

2)  TRTP B, TOBRTIP ©Y
3)  AHBY STI TOTRTE
4) A ST BOTRTIY

110)3RE4Hs 8389 AB|ICD, ZBAO = 108°
2y Z0CD=120° swen LAOC o3 B3

A

B
108°
o)
120°
C D
1) 150°
2) 132°
3) 120°

4y 72°
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111) Inthe given figure, valueof 2 Z/PRQis

S
PL1350
110°
T 5 R
1) 150° 2) 110°
3) 130° 4) 65°

112) Inthegiven figure, valueof ‘x’ is

A
50°
90° C L

B 600
X
K

1) 40° 2) 70°

3) 80° 4) 100°

113) If one angle of a triangle is equal to the sum
of other two angles then the triangle is

1) Isosceles

2) Rightangled
3) Acute angled
4) Equilateral

226

111) 3200 28379, 2 LPRQ &3S,

S
P1350
110°
T % R
1) 150° 2) 110°
3) 130° 4) 65°
112) é..@éédaw 23_3}3@2,, ‘X’ 888
A
50°
90° C L
B 600
X
K
1) 40° 2) 70°
3) 80° 4) 100°

113) RDRT  WOT  TRERT Y3000 LOPTRTR
gReSING ﬁfagﬁé TTTT, & W)

) Apem &5
2) oondees &5d®
3) oFdvdees &b
4) IO W
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114) In an isosceles AABC with AB = AC,

bisectors of /B and ZC meet at O. BO
is produced to a point M. Then which of the
following is correct ?

A

B

1) ZMOC = ZABC
2) ZMOC= /BAC
3) /MOC = /MBC
4) ZMOC = Z/BOC

115) ABC is a triangle, ‘D’ is any point on BC,
then which of the following is true?

1) AB+AC+BC < 2AD
2) AB+AC+BC > 3AD
3) AB +AC+BC >2AD
4) AB+AC+BC < 3AD

116) In the given figure, AB=AC, ZOBC =
Z0CA and ZA=40° then ZBOC is

B
1) 35° 2) 140°
3) 155° 4) 110°

227

114) AB = AC &N Bmgenz AABC o9

/B8 ZC ¢ 3ncmgrdeldnsy ‘0’ 89

BoR2sE. BO o3& M Q0mbas=or §02a.

TNORTHYNYY 35T RevE TOBRNTHIT ?
A

M

B
1) ZMOC = ZABC
2) ZMOC = /BAC
3) ZMOC = ZMBC
4) ZMOC = /BOC

115) ABC ot 333%, ‘D’ o3, BC &
eO8  oSwP)Te RomTTeN, YRINEY
SRF)TH TO?

1) AB+AC+BC < 2AD
2) AB+AC+BC > 3AD
3) AB +AC+BC >2AD

4) AB+AC+BC < 3AD

116)3pt3chs 83mY, AB=AC, ZOBC = Z0CA
DBy LA=40°swen /BOCo 38

B
1) 35° 2) 140°
3) 155° 4) 110°
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117) Inthegiven figure, the valueof ‘x’ is
A
X
Ll 1 640
B LIl D I C
1) 29° 2) 28°
3) 25° 4) 26°

118) In which of the following triangles, median
and altitude aresame ?

1) Isosceles

2) Equilateral

3) Inboth (1) and (2)
4) Right angled triangle

119) In the given figure if ZA=50°, £ZB=70°
and x =2y thenthevalueof x is

A E
y
D
B C
1) 40° 2)120°
3) 140° 4) 80°

120) In ANVY, NV = VY = YN which of the
following is true ?

1) ZNVY= Z/VYN
2) ZNVY = LYNV

3) ZNVY +2 ZVYN = 180°
4) ZVYN+2 /NVY = 180°

228

117) 34T B3RS ‘x° 3 B3

A
X
64°
B H—p C
1) 29° 2) 28°
3) 25° 4) 26°

118) 0008 oI SRHENYY HEpdead
QI FDTNDIS ?

1) RO

2) R

3) (1) B3, (2) 2TTBOR
4) vowdees &30

119) 3045 83RO LA=50°, ZB=T0° 3
x =2y «udx 888

A E
. y
D
2 B C
1) 40° 2)120°
3) 140° 4) 80°

1200ANVY 89 NV=VY 2 YN Znod83ned
ST 2?2

1) ZNVY= ZVYN
2) ZNVY= LYNV

3) ZNVY +2 ZVYN = 180°
4) ZVYN+2 ZNVY =180°
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121) In the given figure ‘O’ is equidistant from B
and C.Then thevalueof x’ is

C
2
o)
A B
)9 2) 6
3) 4.5 4) 3

122) Ina AABC ZB=30° and ZC =45°
largest side of the triangle is

1) BC 2) AC
3) AB 4) AB or BC

the

123) Inthe given parallelogram ABCD,

Statement 1 : AAPB = A CQD
Statement 2 : RHS postulate is applied.
Select the correct option

1) Both statements are true

2) Both statements are false

3) Statement 1 is true, statement 2 is false.

4) Statement 1 is false, statement 2 is true.

A

229

12) 83RO ‘O’ Vo B =3 C 0omhnecs
AHEATRVE. ‘x7 8BS

C
7

230
A4 B
1) 9 2) 6
3) 4.5 4) 3

122)A ABC o9 /B =30° =3 LC=45°

SRHBT VIO TR LT
1) BC 2) AC
3) AB 4) AB or BC

123) 800 BR008T ¥Ry ABCD o9,

XeeF1: AAPB = A CQD

BT 2 0.2 zw%os BDYTRIBSINS. 33
moaa@mg xaommsmd =302.

1) TRH BeLIRGR TOOSTATS

2) DTBR VIR TN

3) Bew3 (1) BOBNTY, Bews (2) FTWNT
4) Bewd (1) BTN, Bewd (2) O3RN

A
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124) In the given figure, AABC and AOBC are

isosceles. AAOB = AAOC, the postulate
applied hereis, A

1) RHS
2) SSS
3) ASA
4) SAS

125) In the given figures, AB=CF, EF=BD and

Z/AFE = /DBC, according to which
postulate, AAFE =ACBD?
D
B
A F C
E
1) SAS 2) ASA
3) SSS 4) RHS

230

124) 304008 ¥3RY AABC 3 AAOB nish

smcgwm gz;:z:ﬁ%ﬁﬁ. AAOB = AAOC
eswon “&Q @gos:mms z,w%os.
A

B

1) ©0.0.8% %mgpos
3) W W AWOT
3) dwcLm.dee. ATROZ

4) o.8Re.. Eocr%oa

125)30450% 66339 AB=CF, EF=BD =3
ZAFE=/DBC &N o333 209030 IR0,

AAFE=ACBD &3z ?
D

1) .30

3)

2) dne.ew.d00.

239.230.230. 4) ©0.9.23
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126) In the given figure ABCD is a rectanle and
DCE is an equilateral triangle. Which of

the following is true ?
E
D C
A B
1) ZDAE =45°

2) AECB is isosceles
3) ADAE is isosceles
4) ADAE = ACBE

127) Two sides of a triangle measure 5 cm and
6 cm, the possible length for the third side is,

1) 1ll1cm 2) 10cm

3) 12cm 4) 13cm

128) Which of the following triangles can be
constructed by knowing its attitude and
vertex angle ?

1) Rightangled triangle
2) Scalene triangle
3) Isosceles triangle

4) Obtuse angled triangle

129) In AABC, AB=AC and AD 1 BC, then the
postulate that proves AADB = AADC is,
1) SAS
2) RHS
3) SSS

4) ASA

231

126) 3RO w83RY ABCD 2.00 &cH38 33

DCE .00 TR0e SREmont  ©0ods
RewINSY c3F)T KO?

1) ZDAE=45°
2) ECB m3o0mom $30%

3) DAE Zad0a 85ds
4) ADAE = ACBE

127) 2,08 SWT ITT WIINT ©¥E 5 cm DI
6 cm VW, HRTIJE LT BRONTWITT

©ed
1) 1l1cm 2) 10 cm
3) 12cm 4) 13 cm

128)R3T =08 s’@on’é‘@wwm& Qe
SNORTYNTLY C30 JRHBRIT, TWRWTW?

1) oowdees &z
2) ORTLOI S50
3) RRRRT §rdE
4) ©{TIRCT §NX

129) AABCc® AB=AC =8 AD | BC &n3d.

33 S0oRSYNEY AADB = AADC Qomd
RO amgos

1) wo.300.25
2) ©0.8.89
3) 239.239.859

4) Bre.ww.300
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130) In the given figure, AC = CE and AB || ED, 130)3p4 0w w¥IWY AC = CE T3y
the value of ‘x’ is, AB||ED 03, 9330 ‘X’ 8 33,
A A
x+10 x+10
C b ¢ D
B B
2x-5 2x-5
E E
15 2) 7 1) 5 2)7
3) 15 4) 7.5 3) 15 4) 7.5

131) In the given figure, AD divides Z/BAC in the
ratio 1:3. The value of x and ZADC are

respectively.
E
Y
A
\QQO X
B D ¢
1) 20°, 115° 2) 115°, 20°
3) 30°, 125° 4) 20°, 125°

132)In the right angled triangle, two acute
angles are in the ratio 1:5. The bigger of the

acute angles is
1) 80° 2) 90°
3) 60° 4) 75°

133)The length of the side of a regular
quadrilateral whose area is 16m? is

1) 2m
3) 4m

2) 8m
4) 32m

232

131) $R84B%  833RQ AD oo ZBAC oy, 1: 3
SHIIBY NPNHIB. x B3I LADC o3

BSR ZRemn,
E
%
A
\QQO X
B D C
1) 20°, 115° 2) 115°, 20°
3) 30°, 125° 4) 20°, 125°

132)2.000 OOWIRLET IFRTY ATE  OFH

3ReTAY 15 B oRTSRYR. wINGY
ci@csé OTHERCIT WS

1) 80° 2) 90°

3) 60° 4) 75°

133) 16m” Q2000539 ¥ AONT WENERT WRTOT

e
1) 2m 2) 8m
3) 4m 4) 32m
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134) The value of “y’ inthe given figure is

55°
60°
75°
\<y
1) 30° 2) 40°
3) 50° 4) 60°

135) The angles of a quadrilateral are, x, (x -10),
(x+30) and 2x. The value of greatest angle
is

1) 180°
3) 98°

2) 60°
4) 136°

136) Which of the following is true about a kite ?

a)
b)

Kiteis atype of parallelogram

The diagonals are perpendicular to each
other

¢)
d)

Diagonals bisects each other

One pair of opposite angles are equal

1) bandd
3) b,candd

2) a,bandc
4) aand d

233

134) 3RS WIRS Y’ § BS

55°
60°
75°
\<y
1) 30° 2) 40°
3) 50° 4) 60°

135)0,00 WIPPEWT RIS x, (x -10),
(x +30) 33y 2x SNW. ARPNEY W3¢ Ber
RN wed
1) 180°
3) 98°

2) 60°
4) 136°

136)530ﬂ§ FowoRAWOZ BRNTY  BRIHT
DOC3RTTH?

Q) TBONY), FRIVOST 232VLDF T 20T WP
Q) BLOFTILL TTIT ©OLTONTILTS
R) BEOFTISD TOIT WOF TN

R) oW BRZ ©YJIND FREIN
TN

1) b =2 d 2) a,bao3) ¢

3) b, 3 d 4) a D d
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137) The angles of a rectangle are (x + 30) and
(y +50). What other information is required

tofind (x +y) ?

1) Value of both x and y

2) No extra information required
3) Thevalue of x

4) Thevalueof y

138) In the given parallelogram PQRS, the
value of ‘x’ is

S R
30°
(0]
250 Q
P 75°
1) 36° 2) 44°
3) 50° 4) 18°

139) The sum of all exterior angles of a polygon
is
1) 360°
3) 540°

2) 180°
4) 720°

137)2.000 @oH3T EncRnes (v + 30) I
(v + 50) N3 (x +y) & c3Sebd,
FomAROHELS CiRE Rl dch BRATE?

) xR y R 3SR
2) B[O BPLIOH BRZIY

3) x 3 B33
4) y3 B3
138)80450hs  T=R0TS Uihrn  PQRS 89,

‘X’ 33

S R

30°
(0]

25° Q
P 75°
1) 36° 2) 44°
3) 50° 4) 18°

139) 2,00 w&:z;:m%éoﬁ: AT JRT  EeeING

seg
1) 360° 2) 180°
3) 540° 4) 720°
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140) In the given figure, ABCD is a
parallelogram, DK 1 AB produced and
DM L BCproduced. Find ZKDM

B
D C
M
1) 90° 2) 200°
3) 140° 4y 150°

141) If each edge of a cube is increased by 50%,
the percentage of increase in its surface
areais

1) 150%
3) 125%

2) 175%
4) 110%

142) The length of the cuboid is twice its
breadth, the breadth is twice its height. The
ratio of the lateral surface area to the total

surface areais
1) 7:2 2)3:7
3) 7:4 4) 3:8

143) A cube of side 12m is cut into eight small
cubes of equal volume. The ratio of surface
area of the original cube to the small cube so

formed is
1) 1:4 2)1:2
3)2:1 4)4:1

235

140)?.@%0’33 B¥gw9 ABCD xmT5080
wBpprwmensy, DK L AB &8 DM L BC

YWLFZ AB =3y BC IRy :&m.
ZKDM &, 300 %R0w0

K A B

30°
D C
M

1) 90° 2) 200°
3) 140° 4) 150°

141) 2.0T FIT T e.-ooasa%:gl 50% %zgzmn’, T
TWerer ey DRERFTUIDE  3e3mch

23
1) 150% 2) 175%
3) 125% 4) 110%

142)2,00 ©@OHZT FIT WGP ©TT ©ROT
RTETT, VNOF) ATCT ATETYE. & BT
IS ™I Fhedd g SAeEE B I

weed 5 QYT DT
1) 7:2 2) 3:7
3)7:4 4) 3:8

143) 12m @owg 2OTH FITR, 3B02, THTT
mmm% NOER  FTIATIN  IRBSINS.
DRUFT T JeImeN TUSHT PRI
Jeeer e 5 DYLEIFNY OROTI

1) 1:4
3)2:1

2) 1:2
4y 4:1
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144) A water container can hold 40 liter of water.
The number of ice cubes of side Sm that can
be fitted into the container is,

1) 200 2) 280
3) 320 4) 480

145) The total surface area of a 3 x 3 rubic cube
is 54 cm®. The area occupied by a single tile

onrubic cube is
1) 0.25cm? 2) lem?
3) 6cm? 4) 9cm?

146) The water in a cubical tank of side 10m is
transferred completely to fill a cuboidal
tank of length Sm, breadth 10m and height
‘h’. The height of the cuboidal tank is

1) 95m 2) 50m
3) 25m 4) 20m

147) The length, breadth and height of a box are
10cm, 20cm and 5 cm respectively. The
lateral surface area of the box in meter is

1) 300 2) 30
3)3 41

148) The dimensions of a cuboid are in the ratio
1:2:3. Ifits total surface areais 88m?, then

volume of cuboid is
1) 2m? 2) 28m3
3) 48m? 4)12m?

236

144) 2,000 Q0T HORTIRY 40 Oee3T® deTEY,
BOWTWIT. ¥ ToMTIRY  w¥ReRI

WIDTT, T2 T Sm T q?m%éoﬁo

aboz;:ri%ri%f 50@36
1) 200 2) 280
3) 320 4) 480

145)3 x 3 SRWEF TIT IR docéw SEexLy
54 cm’ SN, OTTOHE BRI[Te 2.0
Tos (tile) Qxecos
1) 0.25 cm?

3) 6cm?

2) lem?
4) 9cm?

146) 10m TRE FHYICH IO ¢ROFROT
&edd:&, S5m emcg, 10m ®Ro 2, ‘h’m
RITIDHT  TBR0W  WORT Tz 3o
mﬁoaé‘ﬁ TRFTON  TMOFORISING. &3
OB TTeF S0P JeOR 0TS 9T
1) 95m 2) 50m
3) 25m 4) 20m

7)ot Beghch ooz, ono I, HITAD

Been 10cm, 20cm 3 5 cm BN,
Fegries TegF hed J 5 DRLEIT (NCLT RYY)

1) 300
3) 3

2) 30
4 1

148) 2.0T BS0HT TRTW 0L BA3THN: 1:2:3 T
@mmswgzs%, R0 IJees e 35 DREERF

88 m? &T8, @oH3 FIT FIFO. \

1) 2m?®
3) 48m°

2) 28m’
4) 12m?
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149) A cube of edge k is divided into ‘n’
equal cubes. What is the edge of the new

cube?
1) nk 2) %/LK
3

150) Two rectangular boxes have the same
height and length but different breadth as
shown in figure. The difference in the
volume of the boxes is 360 cm®, then height

of the boxesi s,
h h
8 8
9 12
1) 18m 2) 36m
3) 24m 4)15m

237

149) k wobd  FII™H, ‘W ToFTInTN
NPINAT. R LVOERT TIT  @od

k
1) J/nk 2) %/?
I

3)

150)28379  3RC0ATHIFOZ  ATT $OHTVFTTT
BANL DT DTS DIy TNy,
Zeolmy, WS Wed  WRURYRd, TRORE.
OPne FIFoRY F[Ee® 360 cm® STT
Beiine 283,

h h
8 8
9 12
1) 18m 2) 36m
3) 24m 4)15m
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Key Answers
SRCHES
(abc-cba)=100a-a+10b-10b+c-100c 4) BA x B3 = 57A 3 T resr9, odnddee
= 99a - 99c = 99 (a - ¢) 3o o) Joskob 3 Bod rheddwent
(abc — cba) =) AW 2 wodad RO DBTIRTY e @oBody WHT Sosknw,
Soal; 99 3X5=15e53003 A& e3¢ = 5; B Sjaiw 1
BN TG AL 83003 B Jeded=2
2A3B ﬁos%o:h) 11 903 Woriweridezord
208 5 808 A D) B wosod ddeh
6) 1502 ﬁos%obdg(l?, 003 3aNdTN 7
Al O 1|21 3] 45 . B
Tem oVPABE. Texw 10 euRoden (7 + 3)
Bls | 4|3]2|1]0 =10 R 1502 Do Bvodesed.
3p3 16 8103 A @) B ©9031Y 33D
7) D DR &Sﬁfadodd agaesééoi) N[O AN A]
Al 9| 8] 7 3593, 29205 Jogkadw 3 D) 11 803
83008 B0,08008 or@erdE e,
RoaTivy 9 8) 2 3, 4 5 DR 6 003 votIrDS 65432

ABx6=BBB

6 O rHeasse), odred)cde 2,0 wogﬁécﬁoaﬁg‘
6 DoT Meddment DB m@ﬁd@m 9T3e VOB
23 SOa%mb

6X2=12; 6X4=24; 6X6=36
DV B abesed = 4 marte A abesed = 7

238

Soad0dn NOgmeNGTe /wd 11 o 2yer
TR, 11 B 2reeBad AT &593,
©OINYRY S BeeBd WTwert 56342
Toag 0300 11 808 wertmerdd nog
R3083,03791GS.

Sro0dye 3BT Sye0dye 23030 BeIJ) T3
a)z% ﬁoaiécm S1eT8ADHB3. 83003 T3
3“-3550955

abaamsa:as deg _ 7224
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10) abba =1000a+ 100b + 10b +a=1001a +

11)

12)

110b = 11(91a + 10b) 4 - e030d
&'3?)99?3\5% T  adveoniewe B30,03003
RBRRI00) N3

6000 I3 = 12 x 5 x 10 x 10
=4x3x2x5x2x5=2"x5"x15 &3003
15 908 oNdTert 6000 20T BOPeEE
SNesrh33.

20 2PBZ0T BRVT AL =
a’=1764 m’.

(39B950003 BRLWT WOTD LIRS SVT =
a=V1764=42m

39595900 BPLVT WIYS = B0 DI
e3ed Arew el Sodad evg =
4a=4x42 =168 m

833003 2Jezod fezerd Sodad

eugd =168 m

13) DB TS3A 2,8 80T BRITie WS BosdNwd

DO BFMD Brey TIGAY. ST

44521 = 211. @%@od 44521 20t
lelniolnta dﬁ%‘ﬁo&%o&mﬁd

14) 0.000064 3 wS3wew = 0.04

239

15)

16)

17)

18)

19)

AN ﬁoajéﬁ%?eg 9 503 Yot IPTL
éoa;% 36.

2880=144x2x10=
12x12x2x2x5=12"x2°x5

2880 BOBpEar Boskadrerien thedTelesend
Sogd =5

8201 Jot ILeIBODS BOee Ine
50&'5’zs 8100. 300z 820130 8100 @dg(
3% 33 101 Bedain3ad.

adroy)de 2,5'35033501) 3Ny orecyeniewd
dﬁﬁo&% Torse Sd)ﬁoa%oi) 3INEQ)
odrocyoriend ﬁd)ﬁo&%o&mﬁd@d 8
BeOB0D) ?o’a’o?é’éri’ 3TN, o)
200 I ﬁoa%oi) INeSF, SBEabew
QTR I3 ﬁoa%ﬁ%’ JNENYRY, BeBJeIed
8D QTR smsoaquﬁ«e SRENYY,
BRATIeR.

‘@’ 2,08 5033603Taﬁde.°). &3 R oYelad
*m’oa%ojn

1575
a
a _9
(1575) 7
a
a2=-%-x1575
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20)

21)

22)

23)

24)

25)

26)

a=3x15=45

‘ad@od.) ﬁoa% 1575 _ 35
a

Doejod ci’)mz@m@od 333 e, =
%2304 =230400 ééﬁ. @%@Od Doejad
cﬁmz@s'ob ﬁo&% =+/230400 = 480

2560 =16x16x 10
=2X2X2X2X2x2x2x2Xx2Xx5
=2°x2°x5

2560 & S0FpeE FITeNBLW
3oNIeZT B Fosds = 5

1.6 3 S = 4.096

5(5?{).) (o] cﬁﬁffDE&dﬁ.& DR ODDI a;mrioag

Roaknwh 1 &y 1

15 (5_1). 10
16 \6 2/ 11
15 (5-3) .10
16 6 11
_15 211 _ 11
16 6 10 32
3,4_3

8 13 26

200 Y@d <os- 2

2,00 mrﬂoeg ﬁoaj?j Hone T3
T080T Jedpedd BpIY) droweniesd
a‘isaa?d.

240

27) )BT 330 Sricdwmned Josd=

10§ cm+1lcm

4 4
=‘§+§cm = ﬁ>< ﬂ
4 4 4 5
43 3
:—:8—
5 5

B)BRYRY TOLeE ) 330D
BriabwEoed Josl = 8

28) x DA y cdohde T e
Sowd. x DI y NY Soexdaly  x
DA y B ST ad33.

29) 0Medad QR 33.ab Vgl IINT3

1 7

®3,No38 TN vy 2 , 110 m
_ 5 17 2517 _8 _ 4
2 10 10 10 5

30) (a+b)+c=c+(a+h)
X+y=y+ x Crasdd.
B33003 ad SOTSE vead rHeTRY
RVRUD3T.

31) 60% eVPT DY) X 120 ReATT,

100% ®& = 7

Rz, 3ab 290007 Be

=16£00x120=100 «2= %200




NMMS - SAT

MATHS

32)

33)

34)

20t Jogdody  x 0309. QiR 0t
Ros,ad (x + 30% x) = 11%
13x

10
23x

10
23

x=161xﬁ =70

X + =161

=161

W) Dby B  deweddrt 6
3503303308 BT es—c)éeﬁelw 30B.
T3 WesdSesT BpoB BT =X ¢

203 0T3S
X100 X120
gl ?
6
B3 weselewss 30T W3 -x 120 - = 1
600 5

©3 BRHo0T ©10323eTor  250Bee’
R’)OGS?S= 5

008D BRI BeoB3S = X 600 Tewmodd

20% 793308 SIS 37003 23e3=

600 x 120

= X 720
100
20% 00re0dh30hod TN IZWeRIT
BJ= 720x120
100 = X 864

241

35)

36)

37)

38)

X 100 3ro3d WS 20 IS 25%
®39,N SBT3, B3 33 X125

T 125 Jeadd &8¢3 10% ©odieown

BT 00 33 = X125 x 10
100
=125-125 = %1125

BeST 923 =12.5%

20R) SRIS I3weDI Jef =X 120

Zpd0 dabeodd 15% eBmon 03

B3eJ=%120- g 120 x 15
100

= X 120-18= 102
SBBID 10% ©031e008 eBTT SRS

o033 =< 102 - 102 x 10
100

=% 102-10.2 = X 91.8
SRAN I8T33 -T91.8

2000 BYAD aiésxig( % 35000 6¢ (XA}
BROR SO 5% B3B3 50033 e%sﬁ
2379095 BBOIVS ®= T 35000

_ X 35000 x5

100
= X35000-1750=%33250

Jowy 3BNB SoB3 OHWoLD JBAWS
3@ B =X 10300 -34000=X 6300

6 % TP TCBoZ JHID, e0eEs

SBB0, SRAR S = x 100X 6300
6

= X105000
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39) 83T 6% ToB X 5000 3, 8 Sorivrt eI

388 = 5000x8x6

=X200
10 x 12

40) JBPBM BT BHY 6 IRE DI 3
éoﬁ@m’)m &dmmmdd, ﬁd?u&e [Srla)e
TDeeHB.

L 3_,1 25
B0 = 6 IRE 430;1:2) = 612 64 =2
- = 100 x 4
3% wBab 3T - (2_5) = o =16%
4

41) 3011 IeTew 53532393@6 BeeT IS w
83009,
méeae =49%

Jeeler Beedd Brodeld = 22600
. 400x
1e., X + 100 2600
26x - _ 2600
25
2600 _
= T X 25 = 2500
3911 Ie3ew aﬁsaa%ef BeeI
233 = 2500
42) 20t FdTeF 3¢S = T 3200

20 BT 03 S - X 3584,
R000E3 SOt = 3584 - 3200 = X 384

Rreoees 30rad 33 100 354 - 1204
3200
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43. TR 0PV IV e, Buh3d wnuPe

SMoF0B0T MEERY, LIS,

44. -4 o8 4 OSBNI Rpmerodny VTRO

TREEOBTE B
B 0308 ?o’oaﬂ?s

4-3-2-1+0+1+3+4
9

=10

45. 8,6,9,x ) 12 8 Rog,r¥ FOTO
10

SoR0e S0

=10
a,aga)’oa%d@
8+6+9+x+12
=50
5
35+x=50
x=50-35=15

46. 15 cf)ma@%'ﬁ%’ T0eR0 O30 = 1.6 m

8 15 Qo BN e, 030 = 1.6x 15
=24m

VT BR) ITYRENY FooRO o33 =1.2m

85 10 o BeMe wed o33 = 10x 1.2=12 m
BTCBAYN ey awYReTE 2ty ogd

RO00=
30020 2.£3) dUYRETE [od
- 24+12 36 ya4m
15+10 25
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47.

48.

49,

50.

12 8038 30 BSBNS cdeIezy; Foad R
13,17,19, 23, 29

8 Jod ¥ DRTBODS Soss0dw
DPY0BTNDIT.

eszjoéod d)mzsos =19

2,08 JMTB 8 HIT VPSR, OB
BT w3,

34, 35, 37, 38, 38, 40, 41, 42
UU%Eﬂﬁ)angé =H-L=42-34=8
Sy@03MY Bosi,od R Foal;
WRADITOOT 572,08 BombBE
DEBOR DD0EMY TOIOWRY
SricERYeR.

BTN wamzosriv = 20738

escioaocﬁ d)méos =38

BB903 Jor ) JFE BB BINY
6035’6=7+12+5+8=32

306w 3008 WBMOTT 3 = 22
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51) 03 TTWweed 57) SR FTPZNE FOABNRW :

x, x+1 38 x+2
52) ab+3a?b? 83 oo T FWPIONS  FOANWD

=ab (1 +3ab) 8x, 8(x+1), 8(x+2)

53) I[INFT QReF = x% + 10x + 25 )
58) (a2 — b?)

Ix L=x>+2.x.+52
= (@ -b) (@ -

02 = (x4 5)? =(a+b) (a—b) (a+b) (a-b)
b=x+5 =(atby (a-b)y

54) (a® +b) (a+b?) 59) =007 83 = 30x2+20y+17

o = 152+ 17y+3

=a’+a’b’+ab+b’
=a*+b*+ab(l+ab) 303 858 = TROT BS - g
= 30x2+20y+17- (15x2+17y-3)
55) x+ty-z

3a2-5b2+ 6a2+3b2-2b2 + 42 = 30x2+20y+17_ 15x2 _17y+3)
=sa- +6a°+ - +4q

=342+ 6a>+4a? — 5b+3b2 — 2b?
=13a? - 4b?

= 15x2+3y+20

60) atb=15 b+tc=15 c+a=8

56) (2m+n)> =(2m)*+2.2m.n +n?

=4m*+n* + 4mn

a+tb+b+c+ct+a=15+15+8

2a+2b+2c=38

—40+4(6)
—64 2(a+b+c) =38
2m+n =8 a+b+c= 38

2
atb+c=19
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D G 1
61)(y 7) Yty 2.y.y
1 1
=y2+?2—2.y.;
=5-2
1
y-y =V3

62)

63)

64)

N2 + Vo - (20 - +6)
(V2)? + J6)* + 226

—[N2)* +6/6)* - 2 &/2) /6)]
2+ 6+ 212 - 2+ 6 -2112)
s+212 - 8 + 2412
4412

4 3 x4
83

(18.2 + 11.8)  (18.2 — 11.8)

6.4

30 x 6.4
6.4

= 30

S00IT YN : X
: 2x =5
WIS 1 2 (x + 2x = 5)
62= 2(3x -5)
62= 6x -10
6x =72
x =12, ©0R3T ®N® = 12m

N
Q

65)

66)

67)

68)

p’+9p+14 =p*+7p+2p+14
=(P+7)(p+2)

p?+13p+42 =p*+7p+6p+42
=(P+7)(p+6)

MBPT, OTHSES pt7

@y
-1 -1
(36
X y Xy
Xy
TO meg (oA} aﬁoﬁaaﬁ ONTS ¢ 4 : 5

8 JJFT T0BT To m@g o 53033%53
DTS :5:6

6(4x +8)=5 (5x +38)
24x +48 = 25x +40
25x —24x = 48 —-40
x =28
Do) WORA = 4x = 4 (8) =32 IwF

2y —14x =0
2y=14x
y 14

x 2
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69) % (m-1)=m-3 73) STR BoZAD x Ry SNID
3(m-1)=4(m-3) Sx+y=45
3m-3 =4m-12 x:y=7:8
4m-3m=12-3 X 7
= — O =
X g Y Or y=—x
70 + 0.7
) x £ 07x _ g5 s
+ =2 x = 45
x (1+0.7)=2x 0.85 7
1.7x = 1.7 ISx _ s
1 .- 45x7
x =1 15

71) 50935 X 8N3S

(=) S "
X
+ _— =27
T3
oy 4 74) 2a?+ 4ab - (a*> +2ab+b?)
=27
2 2a%* + 4ab - @* - 2ab- b?
a® + 2ab - b?
3x =27
2
5 1
3x =27 x2 - —
) 375573
3x =54 2(5) = 3 + 5,
po 54
=3 2(5) -5=3

72) 9D3Y WOPA : X B[RE r  x x
76) 2+2+2 = 192
0000 wosmﬂ); X [RE

3(2x) = 192
_ _ _32
x+ 7x=32, 8x =32, x= 3 = 122 - 64
X=4 2x - 2()
@o&bodawojbr%ﬂxx = 7x4
x = 6
= 28 [IRF
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77) ®mos x 8N3
si (=5) x x = (25)"

(-5 % (x) =(5)

(-5Yx = 5
8
5
X =_?7
8-7
=-5
-5

78) 204 20 & 20 4 2

4 'y =2 .2
- 22+50
- 252
79) 2 x 3 x 7 = 3528
21 3528 3578 = 2x2x2x3x3X7xX7
2| 1764
2| 882 PxFx7 = 22%x32x7?
3| 441
3| 147 a=3 b=2 c=2
7| 49
7

80) RT> OBNWD x, y D) z ©=3I
xty+tz
3

LAY 3T

ORPYNY FTOFO : — 4

zZ tx-y

=\3/3 xty-z+ty+tz-xtz+ x-y

— 3 3x+y+z

247

x+ty+tz
= 3
_ 3t
81) 25x-l _ 22. 3x +1
25x-1 _ 23x+3
5x-1 =3x+3
2x =4
x =2

=>x-1=3-x
2x = 4
x =2
83) 74 7 = 50
o 7
77 +5w =50 (“a" "
2a
7(7 jl) = 50
7
741 _50 _ 49+1
7° 7 7
757 4941 Lo
7! 7
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b I d
84)a_xixa_ 88) xz—y2=10, X+y=2
a« ab  ab
_ b-c c-d d-b (x+y) x—y)=10
= da X a X a
_ prete-diden 2(x-y)=10
B 10
=d X-y =75 =5 x-y=5
=1
X+y =2 X +y=2
i1 Xoy=5 T +y=2
85) 330000000000 = 3.3 x 10 2x _ 2 4
y=2-7° "7
7 -3
-1\ (-1\2 X =7 y = 7
(7) (3)
86) (625)
1
_ (625)"
1
N R R _ -
89) — -1 = —+4
=5 2 2
m_M —yg4
2 3
3m —2m
2> =5
87) = 35[,® 6
2)6
5 (20)_; m= 5x6
2 X -X _ 2
m= 30
1
¥ 5
24 _ (220
4
. .l 10
2% = 23 1-x
90) —— =0
4 -
Y= 2 l-x
4x:4 l'xlo :O
x=1
xlO _ 110
X =1

248
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91) (0, 3) 95) y=axr +b
(VTYBeBeDZ, y= mx + ¢ SRITY
ReuRRYS)
92) v
9%) x< 0, y>0 ZRBDZ®
T L x— WEREE, y - Fogd
6T 236 3BT 0B
5 =+
T s 97)  y=3x +5 y=3x +5
3 1 D(27 3) C( s )
=3(2)+5 14=3x+5
24 OTINT WSS
3 %o.0e. =-6+5 3x = 14-5
b =-1 3x = 9
— AL, B L oy L9
1 2 3 4 5 6 3
2,0) (5,0) =3
98) y=x

93)  (20-2, k+2)= (0, 0)
20-2=0 @ k+2=0

Z 6000
) (o2 99) 1 QT BRS B = 50 = T 50
L= % 190 De3o® @eRe® 3¢ = 190 x T 50
=1 = T 9500

100) ﬁ@@g @CEZS@FH@D : 2014
94) y=0 3T QTHENR 1 2016

(y=0, x - =33, TEAQAI.)
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101) 101)
R Q R Q
(0] (0]
P S P S
¥3EY RS ™3 PQ  esnw ‘O’

In figure RS and PQ are intersecting at ‘O’
ZPOR : ZROQ = 11:13

. /POR= 11x , ZROQ = 13x
ZPOR + ZROQ = 180°

I1x + 13x = 180°

24x = 180
v 180 _ 15
24 2
_ _11 (13) = (163
ZPOR = 11x =11 (2) —(2 )
ZS0Q = ZPOR (Vertically opposite
angles)
Z50Q = 1625
102) R N
T
X
< o (5

In figure ZPOS + ZSOQ= 180°
x+2£50Q =180= ZSOQ= 180-x

1
ZSOT =7 (180 -x) [OT s the bisector of ZSOQ]

/SOT= 90— %

/ROT = /SOT + /ROS = 90— §+

ZROT = 90°

X
2

250

102)

QORI FeOREI.

ZPOR : ZROQ = 11:13

.. ZPOR= 11x , ZROQ = 13x
ZPOR + ZROQ = 180°

11x + 13x = 180°

24x = 180
v 180 _ 15

24 2

o1 (18) - (163
ZPOR = 1lx=11 (2)—(2)

ZS0Q = ZPOR (30mpmns) $Reane)
/S0Q = 1625
R S
T
X
- & 5

8¥8m9 LPOS+Z£SOQ= 180°

x +/50Q =180= /= 180-x

ZSOT =7 (180-x) [OT, S0Q & &acmeFs |
£SOT= 90—

/ROT = /SOT + /ROS = 90— =+

x
2 2
/ROT = 90°
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103)

In figure figure, ZAOC + ZBOE=70°
ZBOD = 40°

ZAOC = ZBOD (Vertically opposite angles)
s ZAOC =40°

40 + ZBOE=170°

ZBOE =70-40°

/BOE =30°

/BOE = 30 x2 = 60°

2 /BOE = 60°

v

>
»

D
Infigure figure AB || CD, ZAEO= 45°

ZCEO=30°

ZAEO=ZEOQ
ZCFO = ZFOQ (Alternate angles)
.. ZEOF = ZEOQ + ZFOQ
= 45° + 30°
ZEOF =75°
x =Reflex ZEOF
x = 360°-75°

251

103)

=]

829, LAOC + ZBOE = 70°
ZBOD = 40°
ZAOC = ZBOD (30moRunngd 3pesnwd)

<. ZAOC = 40°
40 + ZBOE =70°
ZBOE =70-40°

ZBOE =30°

ZBOE = 30 x2 = 60°
.. |2 ZBOE = 60°

B
..................................... Q
D
833Y AB|CD,  LAEO= 45°
/CEO = 30°
/AEO = / EOQ

ZCFO = /FOQ (S3mrod Epesned)

. ZEOF = ZEOQ + ZFOQ
= 45° + 30°

ZEOF =75°

x =Reflex ZEOF

x = 360°-75°
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P P
105) 105)
a a
b b
X« o > Y X « o > Y
C C
Infigure figure ZPOY=90°, a:b = 2:3 23330 /POY +=90°. 4 b =2:3
~/POX =90° g:b=2:3 a=2x LZPOX = 90° a:b=2:3 a=2x
b-3x b—3x
/POX = 2x + 3x /ZPOX = 2x+ 3x
90 = S5y X = 95—0 x=18° ~ 90 = 5x X= 95—0 | x=18°
b= 3(18)= 54° b= 3(18)= 54°
b+c =180 b+c =180
c=180-b=180-54 c=180-b=180-54
c=126 c=126
C = £=
7= 63 > 63

106) Lines which are parallel to the same line are

parallel to each other.
107) A< L > B
50° y
127°
C < 0 R > D

Infigure ABJ|CD
Z/APR= /PRD (Alternate angles)
50+y= 127

y=127-50

y=177°

252

106) 2,0T3¢ Tesdrt BEVO3TNTVT FTLTeBNLD
TTFT FRBIOBTTONTOTS.

A<

107)
50°
y

127°

v
=}

C«
Q

23339 .AB||CD

ZAPR= ZPRD (O3 OD B3RCIND)
50+y= 127

y=127-50

y=177°
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108) Twoangles a and b form linear pair
. a+b=180° 2a-3b=60°
a=180-b
2a-3b = 60°
2[180—-b]-3b= 60°
360—2b—3b=60°
360= 5b = 60°
—5b= 60 — 360°
—5b= - 300°

5b= 300°
b 300

5

109) Arms of one angle are parallel to arms of an
another angle

1 Fig (1)

and

Fig (ii)

!

In fig (i) and fig (ii) arms of angle (1) and
angle (2) are parallel

Infig (i) angles (1)and (2) are supplementary
Infig (ii) angles (1) & (2) are equal.

253

108)a =B, b HT@ BRINLYD meéojaméwm&
VO amabgd.

. a+b=180°, 2a-3b=60°
a=180-b
2a-3b = 60°
2[180-b]-3b= 60°
360-2b-3b=60°
360= 5b = 60°
-5b= 60 - 360°
-5b= - 300°

5b= 300°
b 300

5

109)2,0T0 FREST NTT  LIRTINED mégozﬁa
BRCITT DT LIVTINDN FBIVOS TN,

223 (ii)

$3 () 3 83 (i) 0Y 063 (1) W3
30¢3(2) B TR IRWOSTION.

8 (i) 8Y e (1) D, (2) BOTRTT
SN, 88 (i) 3Y eI (1) BB (2)
BTN,
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110)

Infigure AB || CD, draw OP || AB

ZBAD+ ZAQOP = 180°
ZAOP= 180°— 108 = 72°
ZCOP+ ZOCD = 180°
ZCOP=180°-120°=60°
ZAOC=ZA0P+ ZCOP= 72°+60°=132°

111)
P

Fromfig, ZSPR+ ZQPR= 180°
135°+ ZQPR=180°
ZQPR=180-135°
= 45°
/PQR+ ZTQP= 180°
Z/PQR+110°= 180°
ZPQR= 180-110°
=70°
In Ale PQR,
ZPQR+ ZQPR + ZPRQ = 180°
70° + 45° + ZPRQ = 180°
/PRQ=180°-115°
= 65°
2 /PRQ= 2(65°)
=130°

254

111)
P

25359 AB| CD, draw OP||ABT3%

ZBAD+ ZAQOP = 180°
ZAOP= 180- 108 = 72°
ZCOP+ ZOCD = 180
ZCOP=180-120= 60°
ZAOC=ZA0P+ ZCOP= 72°+60°=132°

135°

110°
¢
8339, SPR+/SPR+/QPR= 180°

R

135°+ ZQPR=180°
ZQPR=180-135°
= 45°
ZPQR+ £TQP= 180°
/PQR+110°= 180°
/PQR= 180-110°
=70°
In Ale PQR,
Z/PQR+ ZQPR + ZPRQ = 180°
70° + 45° + /PRQ = 180°
Z/PRQ=180°-115°
= 65°
2 ZPRQ= 2(65°)
=130°
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112) A
50°

90° C L
B 60°

=

In figure from AABC,
ZABC + ZBAC + ACB = 180°
90° + 50° + ZACB = 180°
ZACB =180 - 140 = 40°

ZACB = ZLCK = 40° (vertically opposite
angles)

In ACLK, ZCLK + ZLCK + ZCKL=180°
60° + 40° + x= 180°
x=180° - 100°
= 80°

113) Let the angles of a triangle be, x, y and z
Bydata x+y=x

x +y+z =180

z+z= 180
2z = 180
z= 90

.. The triangle is Right angled.

255

112) A
50°

90° C

=

30300 83T AABC,

ZABC,+ ZBAC+ACB=180°
90° + 50° + ZACB =180°
ZACB =180 - 140 = 40°

ZACB = ZLCK = 40° (3,0mmesns 8ae3mh)

In ACLK, ZCLK +ZLCK + ZCKL =180°
60° + 40 + x= 180°
x= 180 - 100

= 80°

113) épnm  3Reaned x, yadd z «nod

x +y+z =180

z+z= 180

2z = 180

z= 90

S 8EdEEY) ©O0WERET SR0REING.
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114) N

B C
In ABC, AB=AC, ZB=2ZC OBand OC
are bisectors of /B and ZC respectively
(given)
.. ZOBC = ZOCB

ZMOC = ZOBC + ZOCB (Exterior
angle property)

ZMOC = ZOBC + £OCB
ZMOC = ZOBC + ZOBC
ZMOC = 2 ZOBC
ZMOC = ZABC

115) A

B b C

In ABD, AB + BD>AD —» (D

In AADC, AC+DC > AD —-Q
@O+ @ gives,

AB+ BD + AC + DC>AD + AD
AB + AC + (BD+DC) >2AD
AB + AC + BC >2AD

256

114) A

B C
AABCohQ AB=AC, ZB = ZC,OB

@ OCrsdr gadaen B w3y Crie
3RCTRGFIND T3)

.. Z0BC = Z0CB

/MOC= ZOBC + ZOCB (m%&@esw

@35@)
/MOC = Z0BC + ZOCB
/ZMOC = ZOBC + ZOBC
ZMOC = 2 ZOBC
ZMOC = ZABC
115) A
B D C

AABD o9, AB + BD> AD — )

AADCcY, AC+DC >AD — @

O+Q@ =

AB+ BD + AC + DC>AD + AD
AB + AC + (BD +DC) >2AD
AB + AC + BC >2AD
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116)

B C

In AABC, ZBAC+ ZACB+ ZABC=180°

40° +x + x= 180°

2x = 180°—40°
2x = 140°
x=70°

OB and OC are bisectors of ZABC and
ZACB respectively.

(- given ZOBC = ZOCA)

.. Z0OBC= ZOCB = 7700

In Ale OBC,

Z0BC + /BOC + ZCOB= 180
35° + ZBOC + 35° = 180°

/ZBOC = 180-70 = 110°

= 35°

117)

B H—p C
Inthe given figure,
ZADC = ZDAC (- AC=CD)

In AADC,

257

116)

B C
AABCo®9, ZBAC +£ACB +ZABC=180°

40° + x + x = 180°

2x = 180°-40°
2x = 140°
x =70°

OB &3 OCnsd LZABC &3 ZACBR¢
BROTOTEINED
(- ZOBC= ZOCAT3)

- Z0OBC= ZOCB = 7%

A OBC 099

= 35°

Z0BC + ZBOC + ZCOB = 180°
35° + ZBOC + 35° = 180°
ZBOC = 180°-70° = 110°

117)

Z/ADC = /DAC (- AC=CD)
AADC 039,
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ZADC+ ZDAC+ ZACD=180°

ZADC+ ZDAC+64°=180°
2/ADC= 180°—-64°= 116°
ZADC = 58°
ZADC+ ZADB =180° (Linear pair)
58° + ZADB = 180°
ZADB= 180° —58°= 122°
In AABD,
ZABD+/BAD + ZADB =180°

x+ x+ ZADB=180° ( AD:BD)

2x + 122° = 180°

2x = 180°— 122° = 58°
2x = 58°

x =29°

118) In both isosceles and equilateral triangles,
median and altitude will be same

119)

B D
In the given fig.
In AABC, ZABC+ BAC+ZACB=180°
70° + 50° + ZACB = 180°
ZACB= 180° — 120°
=60°

258

ZADC+ ZDAC+ ZACD=180°

ZADC+ ZDAC+64°=180°
2/ZADC= 180°-64°= 116°
ZADC = 58°

ZADC+ ZADB =180° (35¥03on)

58° + /ADB = 180°

Z/ADB= 180° —58°= 122°
In AABD,
/ABD+ /BAD + /ADB =180°

x+ x+ ZADB=180° ( AD:BD)

2x + 122° = 180°
2x = 180°— 122° = 58°
2x = 58°
x =29°
118) FHT W03 SIANEADT NI ANEA
NYoEoLR,  WFTeB D, HYTNW
RTINS,
119) E
C y
B D

3R 83T, AABCODY,
ZABC + BAC + ZACB = 180°
70° + 50° + ZACB = 180°
Z/ACB=180° — 120°

=60°
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ZACB+(x+y)=180° (linear pair)
60°+(x+y)=180°
(x+y)=180°-60°
=120°
Given x= 2y, 2y+y=120°
3y=120°
y=40°

x = 2(40°) =80°

120) ZVNY=2/VYN .. Z/NVY+2/VYN=180°

121) C

30°

Infigure AABO= AAOC (RHS postulate)
.. ZCAO= ZOAB

2x + 24 =30

2x = 30-24=6

259

ZACB +(x+y)=180° (33vcbon)
60°+(x+y)=180°
(x+y)=180°—60°
=120°

BREDT[OS x= 2y, 2y+y=120°

3y=120°
y=40°

X = 2(40°) =80°

120) ZVNY=4VYN .. ZNVY+2ZVYN = 180°

121) C

30°

BB AABO= AAOC (20.00.53. ATR0T)

.. ZLCAO= ZOAB
2x + 24 = 30
2x = 30-24=6
6

x=3

X =

2
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122) BC 122) BC
123) A B 123) A B
Q Q
PQ PQ
D C D C

In AAPB and ACQD,

ZAPB = ZCQD (90°)

ZABP = ZQDC (Alternate angles)
AB= CD (Opposite sides of parallelogram)

.. By SAS postulate AAPB = ACQD

.. Statement (1) is true but(2)is false

124) A

AAOB and AAOC

AO=AO (Common side)

AB=AC (sidesofisosceles AABC)
OB=0C (sidesofisosceles ADBC)
.. By SSS postulate

AAOB = AAOC

260

AAPB 8 ACD neQ

ZAPB = ZCQD (90°)
ZABP = ZQDC (T0a0% $e3M)

AB = CD (3=32030 233050 %3
LPIND LTPTOIND)

7. 230.800.25 AR 03T TFes,

AAPB = ACQD
B9 (1)BOIPNTR, Tews (2) ITNT

124) A

B C

AAOB 38 AAOC R¢Q

AO=AO (405303 TTP,)

AB=AC (33023 AABCOD tRERD)
OB=0C (303> AOBCOD tozdnshd)
.. 239.239.830. %m%oézs BTOT

AAOB = AAOC
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125) D 125) D
B B
A F C A F C
E E
Given, EF =BD 424303308 EF = BD
ZAFE= /DBC ZAFE= /DBC
AB= CF B=CF
AB+BF= CF+BF AB+BF= CF+BF
AF=BC AF=BC

. R.800.25. AT 03000 AAFE = ACBD
.. By SAS postulate, AAFE = ACBD @

126) E 126) E

A B A B

In ADAE and ACBE, ADAE &3 ACBE R¢Q,

DE = EC (Sides of equilateral triangle) DE = EC (F30%00%0 gt oaonsd)

AD = BC ((S0N3T 9TV RIONK)
ZADE = ZADC + ZCDE

AD=BC (opposite sides of rectangle)

ZADE = ZADC + ZCDE

= 90° + 60° = 150° = 90° + 60° = 150°

/ECB = /DCB + #/DCE ZECB = ZDCB + ZDCE

= 90° + 60° = 150° = 90° + 60° = 150°

261
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Z/ADE = ZECB

.. By SAS postulate, ADAE = ACBE

127) In triangle sum of length of any two sides is
always greater than the third side.

Secem+6cm=11cm >10 cm

128) Isosceles triangle can be constructed by
knowing its altitude and vertex

129)

B

D C

In AADB and AADC,
ZADB = ZADC = (90°)
AB = AC (data)

AD = AD (Common side)

..By RHS postulate AADB =AADC

262

/ADE = ZECB
oL 230.8090.230. f%w%o@&)od ADAE = ACBE

127) 55T CIRRTe ITF RBHNG  BRIR)
BRTSE RTNT WISNOZ BTN,

Sem+6cm=11cm >10cm

128) ©00 T FB) FONBeeIT, JeRTN
RRQLOT ST, TLWBLTI.

129)

B

D C
AADB =8 AADCRYQ,

ZADB = ZADC = (90°)
AB = AC (33)

AD = AD (0503 Zmw)

SO0, . 2. %m@oé@od, AADB =AADC
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130) A 130) A
x+10 x+10
B < 60° P B S 60° P
2x-5 2x-5
E E

In AABC and ACDE
AC=CE (given)

ZACB= ZDCE (vertically opp angles)

/BAC= ZCED (alternate angles)
By ASA postulate, AABC = ACDE
Sox+10 =2x -5
10+ 5=2x-x
I5x = x

x =15

131) E

A0

o

\]
N\ X

B D

ZBAD: ZDAC= 1:3 (data)

x:3x = 60° (180-120=60°)
4x = 60°
x = 15°

ZBAD= 15°, ZDAC = 45°
ZABD + ZBAD + ZADB = 180°
100° + 15° + ZADB = 180°

ZADB = 180° — 115° = 65°

263

AABC 3 ACDE [eQ
AC=CE &3

ZACB= ZDCE (30mmgmns 3Re3nsh)
ZBAC= ZCED (B03F 0 30e3ned)

©. BRe.m.3R¢ ATY0ZT TFeS

AABC = ACDE
Sx+10 =2x -5
10+5=2x-x
15x = x
x=15
131) E
o
A
\QQO X
B D C

ZBAD: ZDAC= 1:3 (338)
x:3x= 60° (180-120=060°)
4x = 60°
x =15°
/BAD= 15°, ZDAC = 45°
ZABD + Z/BAD + ZADB = 180°

100° + 15° + ZADB = 180°

ZADB = 180° - 115° = 65°
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ZADC= 180- 65° = 115°
ZADC = 180 -65° = 115°
/DAC+ ZADC + ZDCA = 180°
45° + 115° + x= 180
x= 180 - 160°

x=20°

132. Inarightangled triangle, two acute angles are
intheratio 1:5.

Ix + 5x =90°

6x =90°

_90°_
6

15°and 5(15) = 75°

x 15°

.. bigger of the acute angles is 75°

133. Areaofregular quadrilateral= 16 m?

its side = \16m?2
=4m
134)
55° 0
1 2
75° 3
y
/1 = 180-55° = 125°
/2 = 180-60° = 120°
Z3 =7 Z4=175°

264

ZADC = 180 - 65° = 115°
ZADC = 180 - 65° = 115°

/DAC+ ZADC + ZDCA = 180°
45° + 115° + x= 180
x= 180 — 160°

x= 20°

132) oogdnes  HxTY
T 1:5 B8A3.

ATE  OFVIREING

1x + 5x =90°

6x =90°

o =15
15°and 5(15) = 75°

;. BR% OFTHIRCIT ©¥d 75°

X =

133) QODNT WRDLRFRT  Reed = 16 m?
LPIOT WG, = \I16m2

=4m

134)

55°
7N 60°

75° 3

\<y

Z1 = 180-55° = 125°
Z2 = 180-60° = 120°
Z3 =7 Z4=175°
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In quadrilateral, BWREDFRTY,

1+ L2+ /3 + /4 =360° L1+ 22+ 23+ Z4 =360

12594 120° + £3 + 75° = 360° 1259+ 120° + 23 + 75% = 360

/3 = 360° - 320° Z3 =360° - 320

/3 = 40° Z3 =40

/3 = Ly (vertically opposite angles) 43 = 2y (FomeREnd BRED)

Sy = 40° Ly = 40°
135) In quadrilateral, 135) 3=30erxay,
() +(x-10) + (x+30) + 2x = 360° (x)+(x-10) + (x+30) + 2x = 360°
5x + 20 = 360° 5x + 20 = 360°
5x = 360 —20 5x =360 -20
Sx — 340 5x = 340
x= 320 ggo
x= 220 — g 5

BREING ¥ 68°,
angles are, x =68°,
x-10= 68 - 10 = 58°

x+30 =68 + 30 = 98°

x-10= 68 - 10 = 58°
x+30 =68 + 30 = 98°
2x = 2(68)= 136°

2x= 2(68)= 136°
By deean ©vd : 136°

greatestangleis 136°

136) In kite, the diagonals are perpendicular to 136) WBonwQ Beornish TTFT ©OLTONTVBH 0B
each other and one pair of opposite angles are 20T 2ERE BRIND BREINP BDTNTOT.
equal.

137) No. extra information required. "~ In a 137) B[O BRLIOH BNZDY. NFOTT BONI3
rectangle each angle is equal to 90° TG BpeSwy) 90° sNTHEA.

265
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138) S R

Inthe given figure,
ZSRP = ZRPQ = 25° (alternate angles)
In ASOR
ZSOR + ZOSR + ZORS= 180
ZSOR + 30° + 25° = 180°
ZSOR = 180 -55°= 125°
ZROQ= 180 - 125= 55°
Z0OQR= 75°
In AORQ
Z0RQ+ ZROQ + ZOQR= 180°
x+ 55°+75° = 180°

x = 180 - 130 = 50°

266

138)

ZSRP = /RPQ= 25° (T3 0 EReIRD)
ASORZY

Z/SOR + ZOSR + ZORS= 180
ZSOR + 30° + 25° = 180°
ZSOR = 180 -55°= 125°
ZROQ= 180 - 125= 55°

ZOQR = 75°

A ORQ 39

ZORQ+ ZROQ + ZOQR= 180°
X+ 55°+75° = 180°

x = 180 - 130 = 50°
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139) 360°
140) .
K B
30°
D C

ABCD s a Parallelogram
ZKAD=2ZADC=30° (Alternate angles)
InAKAD
/K+/ZKAD+ /ZKDA=180°
ZKDA=180°-120°
ZKDA=60°
ZMCD =~ZADM=30° (Aliterate angles)
In A DMC
ZM+2/DCM+ ZCDM=180°
90°+30°+ £ CDM=180°
Z CDM=180°-120°
2/ CDM=60°
ZCDM=/KDA+Z£CDM+ ZADC
ZKDA=60°+60°+30°
ZKDA=150°
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139) 360°

140)

30°

M

ABCD 2,0T0 333530030 B3040 %
ZKAD=ZADC=30° (Fo3mrod 3REINL)

InAKAD 39

/K+/KAD+/KDA=180°
ZKDA=180°-120°
ZKDA=60°
ZMCD = £ ADM =30° (©03ms 0% 3pe3nw0)

In ADMC 59

ZM+2DCM+ 2 CDM=180°
90°+30°+ £ CDM=180°
2 CDM=180°-120°
ZCDM=60°
ZCDM=/KDA+ZCDM+ £ZADC
ZKDA=60°+60°+30°
ZKDA=150°
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141) Letthe length of the cube be L= 2a
Surface area=60>=6 (2a)*
=6(4a?)
=24a*
When € isincreased by 50 %
L =2a+a=3a
Surfacearca=6(3a)* = 6(9a?)
=54a?
Increase inarea=54a> — 244>
=30a”
Percentage increase = % x 100

=125%

142) £ =2b,b=2h
£=2(b)=2(2h)=4h
Ratio of lateral surface area to the total surface

areais

2h (€ +b)
2 (¢b +bh + ht)

Zh (4h + 2h)
2 (4h (2h) + 2h (h) + h (4h)

ok 6

o _ 6 _ 3
140" 14 7

=37
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14]) 3T g (=2a 8N
TReF e ; DAeedr =602=6(2a)’

=6(4a*)
=244
TFIT T B, 50 % TR ézg%mﬁ

L=2a+a=3a

Berorsied | Duerr = 6(3a)=6(3a%)

=544
DALEFTERT ﬁzgfé =544%-244a?

=30a?
30
QRCCIETINT Jesme U = 5, x 100
e = 24
=125%

142) £ =2b,b=2h
£=2(b)=2(2h)=4h
m%&e@w DACDF TNBY TROF a’be@w
DACCDFTY WTVTE

2h (€ +b)
2 (Cb + bh + ht)

Zh (4h + 2h)
2 (4h (2h) + 2h (h) + h (4h)

6h* 6

o6 6 3
140> ~ 14 7

=3.7
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143) Length of the cube is 12m.
Volume=123*=1728 m?

The cubeis cut put 8 equal cubes.

Volume of small cube = 1728

8
=216m?
Length of the small cube = 6 /1216 = 6m

Ratio of Surface areas of original cube and
small cube is =

BU2P _12°x)2"_ 4
66y g x6 1
= 4:1

144) The capacity of the water container is 40 liter

Volume of container =40¢{

=40x 1000 cm?
Volume of'ice cube of length Sem = 5°
= 125cm?

Number of ice cubes fit into the container

8
s 40 x 1060

125
1

= 320
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143) 333 oo = 12m.

FIFO =123=1728m°
FIBIR, 8 AHTS Teg FINFON IZORANT

1728
8

= 216m?
e FIB 0og = 9216 =6m

Rep TIB PIPO =

DRY TI DB Ay TIT  Teeor d)@@w
DREEFNY OTVTOT =

6127 _12°xp2% _ 4
B6)Y B xp 1
= 4:1

144) Q0T ORI AT, = 40 e
ToMo®m3T Mog, = 409¢

= 40x1000cm?
Sem tRIBRY, FI0FE0R OO O
TIPO =53
= 125cm3

Q00T BOMOTITY  LRBWTVRT  R0W—
nane Boss,

4O><,L€)68(T
125

1

= 320
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145) The total surface area of 3 x 3 rubic
cube = 54 cm?

2
Area of each face = 54%

= 9 cm?

9 cm?
9
1 cm?

Area of single tile =

146)a= 10m, £=5, b= 10m

Volume of cubical tank = Volume of
cuboidal tank

a® =0Lxbxh

10° = 5x10xh

ho 10x10°x10
A x W

h= 20m

147) t=10cm, b=20cm, h=5cm
Lateral surface area = 2h (£ +b)

2(5)(10+20) = 10(30) = 300 Cm?

300m?
100

Lateral surface areca =

= 3m?
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145) 3 x 3 TRUT FIT Tper Ded

QALEDE = 54 cm?
20030 TNDT DRELF = %
= 9cm?

2
20T TOAT DALRF = 9 cm?

9

=1cm?

146) a= 10m, £=5, b= 10m
SERktlow _ =B8003 wymﬁaéoﬁa

EROFI FIPO ROTI FIFO

a>=0xbxh
100 = 5x10xh
o 10X 107 x16

S x W
h= 20m

147) £=10cm, b=20cm, h=5cm
TZF e ; paeeor = 2h (L +Db)

2(5) (10 +20) = 10 (30) = 300 Cm>

0 _  300m?
mgr fme@w DREDF = 100
= 3m?
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148) The dimensions of a cuboid=1:2:3
~ L=x, b=2x, h=3x
Total surface area of cuboid= 88m?
2 (Eb+bh+hl)=88
x(2x)+2x(3x)+x(3x) = % m?

2x* + 6x* + 3x* = 44

11x2 = 44
2_ﬂ= 2
=7 4m
x=+4 =2m

{=x=2m

b=2x = 2(2)=4m

h=3(2)=6m

Volume of cuboid={ xb x h
=2x4x6
= 48 m?

149) Edge of the cube = k

It’s volume = k3

The cube is divided into ‘n’ number of cubes.

Volume of new cube =

Edge of new cube =

(98]
=

K
I
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148) 0N FIT So3PDNE =1:2:3

ONTITYR.

~ L=x, b=2x, h=3x

TR ;’beeﬁw QAEEIE = 88m?
2 (Eb+bh+hl)=88

x(2x)+2x(3x)+x(3x) = 82—81112

2 + 637 + 3x° = 44

11x2= 44
4 _,

x? = 1 4m

x =4 =2m

{=x=2m
b=2x = 2(2)=4m
h=3(2)=6m

Volume of cuboid={ xb x h

SODITRE TS F© =Lxb x h

=2x4x6
=48 m?

149) FIT wous Wi =k

QW0 FIFPO = K FITH, WADFI

NEoN QNISINT.

SRR TIT TIFO = 1;—3

TRT TIT ©WOWI NG = 3

5|W‘w

9
:‘W




MATHS

NMMS - SAT

150)

12

Volume of box (ii) - Volume of box (I)

= 360 cm?
4 xh x h=360

12x 8h — 9x8h = 360

96h — 72h= 360

24h = 360

_ 360
h 24

h= 15Cm

150)

9 12

ﬁééﬁ (I) o FIF® - ﬁ%ﬁ ((i1)3 FTIPo
= 360 cm?
Cxb,xh- £xb xh=360
12x 8h — 9x8h = 360
96h — 72h= 360

24h = 360

_ 360
h= "4

h= 15Cm
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Key Answers

Maths (Arithmetic)
QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key |Q.No.| Key
1 3 11| 1 ]21| 4 31| 1 |41 ]| 4
2 |1 112 | 4 (22| 4 (32| 2 |42 | 3
3 | 2 |13 3 |23 2 | 33| 3 |43 | 1
4 | 3 14| 2 |24 | 2 [ 34| 3 |44 1
5 | 3|15 2 |25 3 |35 | 1 |45 | 4
6 | 1 /16| 3 |26 | 1 |36 | 3 |46 | 2
7 | 4 |17 | 2 (27| 3 |37 | 1 |47 | 3
8 | 2 18| 4 | 28| 1 [ 38| 2 |48 | 3
9 | 1 (19| 1 29| 4 [ 39| 4 |49 4
10| 3 |20 2 |30 | 1 |40 | 1 | 50| 2
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Key Answers

Subject: Algebra

QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key |Q.No.| Key
51| 1 (61| 4 | 71| 2 [ 81| 3 | 91| 3
52 | 3 |62 | 4 | 72| 3 |82 | 2 |92 | 3
53 | 2 |63 | 2 |73 | 4 |8 | 2 |93 2
54 | 4 (64| 1 | 74| 2 |84 | 3 |94 | 2
55| 2 |65 2 (75| 3 |8 | 1 |9 | 4
56 | 3 |66 | 3 |76 | 4 |86 | 4 |96 | 2
57 | 4 (67 | 1 |77 | 1 |87 | 2 |97 | 1
58 | 2 |68 | 2 (78| 2 |88 | 3 |98 | 2
50 | 3 1691 |79 4 |8 | 3 |99 2
60 | 2 (70| 4 |80 | 1 |9 | 1 [100| 1
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Seaontd3 : vITR
QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key |Q.No.| Key
101 3 (1M1 3 (121 4 [131| 1 [141]| 3
102 1 (112 3 [122| 1 [132| 4 [142| 2
103| 3 [113| 2 [(123| 3 [133| 3 [143]| 4
104 2 (114 1 (124 2 |(134| 2 [(144| 3
105| 4 (115 3 [125| 1 [135| 4 [145| 2
106| 2 (116 4 (126 4 |136| 1 [146| 4
107 1 (117 1 (127 2 |[137| 2 [147| 3
108| 3 (118 3 (128 3 [138| 3 [148| 3
109| 1 (119 4 (129 2 (139 1 [149| 2
10| 2 [120] 3 |130| 3 |140| 4 |150| 4
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